FHEW B 1‘1,20,000@&@1%3@@ | 40,000
mémm-ﬁAﬁ3s,000$ﬁﬁﬁm|
Wﬁmmwﬁs%ﬁ'@gmﬁmmnmm
CeIn B L

6. What is Goodwill ? What is the need of its valuation ?
Explain different methods of Valuation of Goodwill. 15
wﬁw.%?mgﬂmﬁwmm.%?m
%Wﬁﬁfﬂﬂﬁﬁ:ﬁﬂw@mﬁmw

7. Under what circumstances can partnership be dissolved ?
How are the accounts of a firm closed on dissolution ?
’ 15

m@ﬁrﬂ-ﬁﬂqﬁﬁuﬁﬁfﬁmaﬁmuﬁﬁ%?ﬁm
mﬁ@tﬁﬁ%@ﬁ%ﬁa’ﬁmﬁﬁﬁr@r%?

8. Explain the -accounting treatment of preparing accounts in

the books of Head Office under Stock and Debtors
Methods with the help of one example. 15
ot R TEfE & i T FrelieR B T
F md R W B oEEd TR F TE W B

9. What do you undesstand by Hire-Purchase System ? Is it
Credit Sale ? Distinguish ‘between Hire Purchase System
and Instalment Payment System. 15

mﬁ@ﬂﬁmﬁmwmﬁ%?w%m

ﬁﬁ%?m%@ﬂﬁmsﬂimwﬁmﬁaﬁ _'
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Time : Three Hours] [Maximum Marks : 80
2
Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four questioné fr : :
: om th ini i
o ' e remaining eight
?gmﬁwWIval fard
1 s Tl H ¥ WW W =i |

.

Compulsory Question ( 3faw wg)

(a) IHow \jvill you.deal with 'Goods in Transit' and
Cash in Transit' under Direct Method ?
Ay vy fafy = wd Ty w
4 e 1:[ ’
g § owEE g e feed 2 w

\ (b) g& thgﬂc:al;:;;;lst}ﬁcs of I-Iire;p:rﬁcé:n;gel System.
(c) Write a short note on fixed capital account
Rert §o WA W uw W feuh fefay |
(d) Explain Sacrificing Ratio and Gaining Rati
M AU SR WY oUW W) e a;l%fq 1

(e) Write four circumstan which a firm

| ces Tind i 1

dissolved. N o 5 4"'21;
M=

7 X R el L : q8d TF FH &I
13126020
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2. M/s Janta Prakashan invoice goods 1o their various
branches at cost. All the expenses except peity expenses
are paid by the HO Peity expenses e paid by the
branches, which ar¢ allowed. to maintain petty cash balance

of Rs.500 on imprest system. From the-details regarding

Patna branch, prepare Branch Account t© calculate

profit : ' . 15
Particular Amount
' (Rs.)

Petty Cash 1st April, 2024 500
4,000

Debtors 31st March, 2025
Goods sent to branch during the year 14,000

Goods returned by branch 1,600
Goods returned by the customers 300
Cash sales 8,600

" Credit sales _ 12,000
Cash remitted 1o Head office 22,600
Allowance to Customers 80
Stock on 1st April, 2024 4,000
Stock on 31st March, 2025 3,200

' 140

Bad debts
Expenses paid by the HO:

Rent from 1st April, 2024 to 30th April, 2025 2,600

insurance to 30th June, 2025 3,600
Qalaries and Wages ' 5,600

Expenses paid by the Branch

126020 : 2

400

L
Yird ST W e W o fafie wrerel | A
Wm%lﬁhﬂé@—ﬁﬁmgﬁwm
e 8 o fo e 1 SR-WE W w1 R
W@mmmiﬁﬁwmwsmw
f@amﬁmmﬁmm%.mw
W@i‘ﬂﬁﬁ: R @, @19 | WA B AT W @R YR

T
D TR 1 nd, 2024 ' ' g‘;
R 31 =, 2025 _ e
m-m ; S 1600
vl ek, | 300
T fat '
S Rt 8,600
s ) e . 12,000
e , 22.600
1 o, 2024 W wE -
31 W, 2025 W wWw .
gEa HU ,200
140

TEeE g PR R m =4 .
1 aili, 2024 ¥ 30 o, 2025 % FeET 2,600

WA Fa T =g '400
(2-06114) L-26020 . 5
: PT.O.



3. X purchased seven trucks on hire-purchase system on
) 1-7-2023. The cash price of each truck was Rs. 5,00,000.

He was to pay 20% of the cash price at the time of -

delivery and the balance in five half: -yearly instalments
starting from 31-12-2023 with interest @ 5% per annum.
On X's failure to pay the instalments due on 30-06-2024
it was agreed that X would return 3 trucks to the vendor

and remaining 4 would be retained by him. The vendor -

. agreed to allow him a credit for the amount paid against
these 3 trucks less 25%. Show the relevant accounts in
the books of X assuming that his books are closed in
June every year and‘deﬁreciatibn @ 20% is chargeﬁ on
trucks. 15

X 7 1-7-2023 ﬁ’ﬁm"{@@ﬂamﬁmmgﬁ:@ﬂ%r'

YT T H1 RS T 5,00,000 T o1 | 99 feciedt B
T TS T H20% SR 9w o woand e ©
T HTH o | 9ifte e 31-12-2023 @ 5% Wiy =4
WA W F T gE e 1 30-06-2024 T 29
ﬁ?{%ﬁww'mﬁxﬁﬁmmﬁgmg
%Xﬁ%maﬁ3g¢vﬁa_ﬂmaﬂﬂﬂﬂ4w1¢mtﬁl
ﬁﬁm.aﬁ.sﬁagﬁéﬁqwaﬁnﬁw%m
25% F9 HiEe N =t oAl N & fow wend w0 | 9w
T B St e velw o 5w A §e @ w2
aﬁzm‘rmza%ﬁm@w@qmw% X &t
gmﬁﬁmaﬁﬁ@ml

126020 - 4

4. X and Y are in partnership, sharing profits in thé ratio of

5 : 3 respectively. Their balance sheet is as follows : 15

Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 28,000 Cash at Bank 7,800
Workmen's Debtors 40,000
Compensation Less : .
Fund 4,000 Provision 1,800 38200 -
Z's Loan Alc 30,000 Stock 56,000
Capital Afcs : Investment 10,000
X 50,000 Goodwill ) 10,000
Y 40,000 Plant 30,000
1,52,000 - 1,52,000

Z is admitted into partnership on the following terms :

€) The new profit-sharing ratio will be 4 : 3 : 2
between X, Y and Z respectively.

(i) Z’s loan should be treated as his capital.

(iii) Goodwill of the firm is valued at Rs 27,000.

(iv) Rs. 8,000 of investments were to be taken over by

. X and Y in their profit sharing ratio.

(v) Stock be reduced by 10%.

(vi) Provision for doubtful debt should be @ 5% on
 debtors and a provision for Discount on debtors @
2% should also be made.

© (vii}) X is to withdraw Rs 6,000 in cash.

Give journ-al entrics to record the above and prepare
balance sheet of the new firm.

(2-06/15) -26020 5 - "P.T.O.
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Xa?ﬁY?rr%ﬁr?rﬁ%aﬂtmwﬁ%mﬁam
Wmﬁ%‘lmmﬂmﬁ'@rmm%:

TSR afer wafwat - TR
&) (®)
TSR 28,000 §% W T&HR 7,300
giite” & EEAY 40,000
- TS B
i 4,000 FEHE 1,800 38,200 °
7 @ WO wE- 30,000 ©iE 56,000
oot S Fem 110,000
X 50,000 AT 10,000
i 40,000 @ad 30,000
1,52,000 1,52,000

2 = Freofen o W GRER ¥ R iR T R

) T - SR FRI X, Y ¥R 2% W
©4:3:2 B0 1 I’

(ii) 7 & v F SEE T W S ARl |

(i) ®H A w0 27,000 T T

(iv) s,ooow@%ﬁamﬁxﬁwfammm_

W eue | TR S |
) =i 10% &0 & S | -
(vi) mﬁmaﬁwmmgﬁwmz‘mmﬂw
mﬁmﬁg‘wgﬁﬂﬁ?ﬁZ%@mamt
(vii) X T 6,000 T TR FeER € 1
Wﬁﬁémﬁﬁﬁ%ﬂwmﬁ@rm
3 3 T e wfafed dFm !

L-26020 6

i
1

(2-06/16)L-26020 . 7

5.. A, B and C started business on 1st April, 2023, sharing
profits in the ratio of 3 : 2 : L. Their combined capital
was Rs. 96,000 which was shared in profit sharing ratio.
They are entitled to 10% p.a. interest on capitals. Profit
for the year 2023-24, before allowing interest on capital
were Rs. 39,600. They drew Rs. 10,000; Rs. 7,500 and
Rs. 6,000 respectively during the year. | ‘
They decided to dissolve the firm on 31st March, 2024.
Their creditors as on that date were Rs. 50,000. In addition,
A had given a loan of Rs. 5,000 to the firm. There were
lialsilities amounting to Rs. 12,000, not shown in the .
books. These are also to be paid. Assets realised for
Rs. 1,20,000. Creditors for Rs. 40,000 were taken over

.by A for Rs. 36,000. Balance of the Creditors were paid
at a discount of 5%.

Prepare necessary accounts. - 15
A B 3l C A1 e, 2023 ® 3:2:1 % A H
o wE FW TU weEEE g e | S uge o
96,000 T off T T wEwET ogud ¥ Wem e
T em 13 10% TR 9 oW % TRSR € 1S 2023-24
= fog o9, Tt W S w1 SIgAi W 9 e 39,600
T o | 3= WA 10,000 ¥, 7,500 T T 6,000

.7 T & N FeE o

3= 31 =, 2024 w0 W w T w6 @ Tl e o
3T aitE & 99 TSR 50,000 T 9 | THE e, A
¥ wd w5000 TR H ES B N 1 12,000 T
e of, S fraet # TE fKeR T | T 9 gRe

P.T.O.
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BCE/M-24
MACRO ECONOMICS
Paper : BC-202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

AT : HE oE v B S AT e e 1 st €
Tl & o T g

Compulsory Question
(P T9T)
1. Answer all parts briefly :
(i) Distinguish between Intermediate goods and Final
good?
(ii) What is money illusion?
(i) What is meant by Running inflation?
(iv) Explain various stages of Trade cycle?
(v) Explain the concept of Induced investment?
(5%4=20)

Teft T A WHY § S ANE -
(@) weHEd asgel qur s SRge W TR S
G) TRt @ wEn eife @2

26021/2950/KD/593 [P.T.O.
2/5



(i) St g T AT | o P 82
(iv) =R =% o T sveeenet @ vl B
(v) BRd R =1 gRom &t v

Define Macro Economics. Explain scope and limitations
of Macro Economics. (15)

e ey ® T SR 22 waiR i & 8%
qo Sl %1 sue i

Define circular flow of Income. Explain circular flow of
Income in four sector (Open) Economy? (15)

o & TEE T Q = s 27 T R & (gR)
syferEee ¥ o @ T%i9 YAIE R 9U Shifed)

Explain Income Method of measuring National Income.
What are its precautions? (15)

Y S| W W W o fafy & e Wl e
FF-PH o weefE 82

What is multiplier? Relationship between MPC and
Multiplier? Explain forward action and Backward action
of Multiplier. (15)
o S §? WA S R A o | R S 82
T F ST 4l RiEE Wi @ avid

26021/2950/KD/523 2

7.

8.

Bxplain Keynesian Psychological Law of Consumption.
‘What are its implications? (15)

e % T & FRTE FEE 6 9 W) T T
fiend HF-N 22 :

Critically explain Keynesian theory of income and
employment. . (15)
B 3 o U VR Togia @1 STee oo

Elaborate the Demand-Pull and Cost-Push theory of
inflation? (15)
R = Wi 9RE won we 9RE fasa % ol H

What is Business-cycle? Explain Samuelson's theory of
Business cycle? (15)

SR T Y ST 1 AR 2 SHeET § SR I (s
& ol 1

26021/2950/KD/523 3
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26022
BCE/M-24
FUNDAMENTALS OF MARKETING
Paper : BC-203

Time : Three Hours] [Maximum Marks : 80

Note : (i) Question No. 1 is compulsory.
(ii) Attempt four questions from the remaining eight
questions carrying 15 marks each.

e : (@) WA wEw 1 shEn g
() T e U ¥ W TS 15 % 9w OR T
% TR A

Compulsory Question
( SNfemd U9)
1. Explain the following in brief : (4x5=20)
() Difference between marketing and selling,
(b) Explain the objectives of marketing management.
(c) What is the significance of studying consumer
behaviout?
(d) Describe the procedure of Test marketing,
(¢) What is Trading up and Trading down stiategies?
frefafod = 989 § S9EmE ¢
(%) fauom ok fasl & o= afawl
(@) fauuE ye¥E & SEgdl & e S

26022/2200/KD/590 [P.T.O.
3/5



2.

3.

5.

() U SRR H FEEAT HW H e 7

(%) s TausH 1 UiRar &7 9

(¥) wedud AR qen SigEt smR f-=f = et
2?

What do you understand by marketing? Distinguish
between traditional and modern concept of marketing,

(15)
foo @ oW W gEEM B UM @ wWERmW G
s e § shR )

What is marketing environment? What are the factors
that affect the marketing environment? (15)

FIYU SO ST 82 THUvE SR @ gHied R 9
TE H THEET

Define product positioning. Explain the procedure
what are the factors for effective successful product
positioning? (15)
s Teeifaepor &1 RIS @ ISIY| SHeh! TR S|
TEe SR RO T w9 T BN 87

Explain different theories of buyer bebaviour and also -

explain the factors affecting buyer’s behaviour. (15)

e FEER @ fafi fagid & wg-wiy SuvEEr

R T T R O 56 1 Srel Hie

26022/2200/KD/590 2

7.

What do you mean by product life cycle? Explain the
various stages. Discuss the utility of product life cycle
to a marketing manager. (15)
IR e W QAT TN WHA °7 T i =
H) = By TToE weE % fa IO Ssied =%
Ft SqAfwE wt foeer Him)

Write notes on : (7.5%x2=15)

(a) Resale price maintenance

(b) Difference between skimming the cream pricing
strategy and market penetration pricing policy.

Frefafar w Aew e .

(F) T:EFa T g

(=) wer T ol QR ek SR e e
{fa-ifq & g i@ T

Explain the factors affecting the selection the suitable
distribution channel. (15)

IUYET ToRRTT 9@ & I Bl IAET B A T @
SR H

What is packaging? What are the functions of packaging?
(15)
I w1 Fan ol 22 YRR Bl w5 wwen wivm)

26022/2200/KD/590 3



9. Describe the following : 15 Rall Mo, cnnanasasi , © Total Pages : 4
frpeferien 1 aoid i BCE/M-24 | 26023
(a) Firewall. (b) SET. E-COMMERCE
HrEREA] ey Paper-BC-204
(c) Applications of EDL Time Allowed : 3 Hours] [Maximum Marks : 80
SRR &SI Note : Attempt five questions in all, Question No. 1 is

compulsory. Attempt remaining four questions, out
of remaining eight questions carrying 15 marks each.

o wte v @ S AT T wen 1 abe
2 9y oe weel W @ AR I w1 WA i)
Thw & 15 e §l
Compulsory Question ( 3iftard Ug)
1. Attempt the following questions : 5%4=20
frofafas o & IW S
(a) Explain Effect of Technologies on M-Commerce.
-y 9 i & w9E sl S Sy
(b) What i_s E-Mail ? What are its features?
90 @ 3?2 wsl PRvad s
(¢) Explain C2C and B2C?
C2C &R B2C W wiamedl =

26023/K/299/1,700/T 4 26023/K/299/1,700/T PT.O.




(d) Differentiate betweenﬂ Data and Information,
e R gEw & = ofm wifaw

.(e) Explain Features of E-Governance.
399 ®I fovueEd EaE

What is E-Commerce? Explain the benefits and limitations
of E-commerce. 15

-HIad w‘%? -Hmd & @9 AR Wl wEngd

What is Internet? Explain the various Applications of
Internet. 15

e ¥ ¥? fetie w TPt agwmht % st 8
AT

What is MIS? What are its objectives? Explain the
characteristics and various approaches of MIS
development. 15

THAETY T €7 T9 wevd w1 §7 wwerdud foeg
w1 favrmare R fafu= sfew & =ren wifsg

Explain the following :

Trafaem = = ifs;

(a) Implementation of EDI. 10
iYW wEive|

206023/K/299/1,700/T 2

e e e

f
1

(b) Differentiate between E-Business and B-Commerce.
5

-foasmg o E-wmd & W | waRql

What is Transaction Processing System (TPS)? What are
its features? Explain the components of TPS with

example. 15

o WAt faww (ﬁ‘ﬂw_ ) T 27 35 fagea
T g2 ddivg & rae.a«‘f H1 ISR Teq THEEdl

Explain the following :
frafafgs & e HRIT

(a) Differentiate between DSS and MIS. 5
Ty SR THTETE % §W o SaRu
(b) Impact of IT on Business. . 10

.Wmaﬁmm|

Explain the following :

ﬁﬁﬁrﬁgﬁaﬁmaﬁﬁt{:

(a) Information system with its characteristics. 8
THehl foviwael = WY g gonell
(b) Models of E-Governance. #
3-TENE & Hied|
26023/K/299/1,700/T 3 _ ) P.T. O.
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3 Roll O, csaisumsssssssss Total Pages : 6
Eals (] 2
ekl ol W wE BCE/M-24 26024
T m ofFm 500 BUSINESS MATHEMATICS-II
. Paper —~ BC-205
e 300
< 250 Time : Three Fours] [Meximum Marks : 80
EHA 400 Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt any four from the remaining eight questions.
e 550 : ] )
' e ;@ ute W A v 9 1 s 219 s g
e TR SRE FT SR T S i Sisy F ¢ D U v e

(B) F TAN & 500 A i weR e WeE w1
g 9 TR S5 A Y ¢

A THR @ W EEn

1. Compulsory Question (aTﬁa'lﬁ g ) 2
(a) Prove that #, +#, = (n+1).,.

5
IW AR 150 (b) Expand (4::2 —%] ;
=Ry SR 100 (c) Findall the solution of the inequality :
= 125 x+y2z8ifx>=4andy23.
(d) Draw the graph of the inequality 3x + 2y <6.
wier s (6) Bxplain classification and tabulation of date.  (5%4=20)
DfereRa 50 @) fog =ity & : n,, +n, =(n+D, .

IR S H W ® TN T TR ¥R Fd i , :[43;2_1)_

X
(1) STEEET S O TEEE S I RN
x+y=8 9% x24 AR y23.

26024/2500/KD/621 6
26024/2500/KD/621/Trans. [P.T.O.
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(&) 3x+2y <6 TN ® WF H! T
(%) 2 & Tffeor S WRONET T sare Hifau)

(@) In how many ways 5 different microprocessor books
and 4 different digital electronics books be arranged in a
shelf so that all the four digital electronics books are
together? 7.5

(b) How many ways can we select a software development
group of' 1 project leader, 2 programmers and 3 data entry
operators from a group of 5 project leaders, 20
programmers and 10 data entry operators? 7.5

(%) Wra faf= TR gl ok =) ffies fefeea
R T B T Wew B fFer w9
=i fwar s aifs g9t =R fefeen soRitem
qTh TH-WI BI?

() &9 5 WeEE wiey, 20 WOER @R 10 29 O sifws
B e ¥ ¥ 1 iR e, 2 R ok 3 2 1
SRR & HREAR Saae T $i fhed Ts 9
I HEG o7

(@) Using binomial theorem find the value of (10.05f. 7.5

(b) Evaluate (x2 + y + D)% 15

(%) f§98 w9a &1 IWEW & (10.05)° & HEd W OIE
HifwQ

(@) 62 +y+ 1) =1 qoiET HU

26024/2500/KD/621 2

1\
(a) Find the coefficient of x* in the expansion of [-’52 s “——J :

2x
15
(b) Check graphically wether the pairs of equations :
x+3y=6
2x~-3y=12
is consistent. If so, solve them graphically. 25

(%) [x2+-2-1;;] % fawr ¥ 5% e B T S
(@) wirsh €9 | Sie foF w1 T i SiE
x+3y=6
2% -3y =12
TEW ] IR WA ®, o o UiEwE T i

(a) Find the solution set of the following system of linear
mnequalities graphically
xEyE6rx2l. el g
(b) Verify that the solution set of the following linear constraints
is empty :
x—220,2x—-y<-2,x20,y20, 75
(%) miFw ®1 § Fas Foammel wt Freeren v
i GHYN TY=EE @ BN ¢
x+ys6,x2l,yz21l
(&) g R fr Frefatea Weas amoel = wmm
= TRt ®
x—=220,2x-y<-2,x20,y=0.

26024/2500/KD/621 3 P.T.O.



A furniture firm manufactures chairs and tables, each requiring
the use of three machines A, B and C..Production of one chair
requires 2 hours on machine A, 1 hour on machine B and 1 hour
on machine C. Each table require 1 hour each on machines A
and B and 3 hours on machine C. The profit realized by selling
one chair is Rs. 30 while for a table it is Rs. 60. The total time
available per week on machine A is 70 hours, on machine B is
40 howrs and on machine C is 90 hours. Formulate the problem
as a linear programming problem so as to find the number of
chairs and tables that should be made per week so as to
maxirnize the profit. 15

T HHEE WH i o O wART §, T % feg e
TR A, B 8k C % SUERT 1 STewawar g B WeiE A
W 1 HE ® ST w2 s, WS B W 1 He o wei|
C W 1 eI T 1 T A B W A $iR B W 1 W
AR HelT C W 3 S H e w6l ¢ TF wE awn
T 30 T TN WA T T TR ThH O & G 60 TR
Bl Wi A R TR T SToey Hel 999 70 2, WERT B
W 40 W iR WY C W 90 W ¥ TR W ew
TN TSN % W A GUN W, 6 R A v %
EdiSid

26024/2500/KD/621 4

7. What is meant by pie diagram? Explain the method of its
construction. 15
o e W w A 87 T fmiw W At 8 sren
g
8. (a) The following table shows the interest of students of a
school in different games :
Games No. of Students
Table Tennis 500
Volleyball 300
Hockey 350
Basketball 400
Cricket 550
Represent the data by using a simple bar diagram. 7.5
(b) The taste of 500 people of a society for different type of
food was recorded as follows :
Type of Food Number of People
North Indian 150
South Indian 160
Chinese 125
Italian 75
Mexican 50
Draw a pie diagram to represent the above data. 7.5
26024/2500/KD/621 5 [P.T.O.
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26025
BCE/M-24
BUSINESS ENVIRONMENT OF HARYANA
Paper : BC-206
Time : Three Hours] [Maximum Marks : 80
Note : Attempt five questions in all. Question No. 1 is compulsory
carrying 20 marks. Al other questions carry equal marks.
AT : FHw e v B TR Y T dem 1 oo & fver
20 3w B 99 et vl % IFF TN
Compulsory Question
(At W)
1. Answer the following parts of question. It should not
exceed one page :
(a) Special Economic Zones (SEZs).
(b) Agriculture Credit.
{¢) Small Scale Industries.
(d) HAFED.
(¢) Crop Insurance. (5x4=20)
FreafofEa weal & A 1 HEY A ST i) 98 TE
ot @ erfers @Y e AT
(%) fomiw enfler &=
(@) Hi% 9@
() =Y Y F I=T
(=) BHS|

(¥) wgd 940

26025/1950/KD/654 P.T.O.
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8

Discuss the concept of economic development.
Also explain the various determinants of economic
development. (15)

Wﬁaﬁmaﬁﬂmml e fawm = fai=
Tt a<al ) e @t Eh—ll_

"The economy of Haryana has attained the excellent
development since the inception of the state." Do you

agree? (15)
'TRET % I W TR 319 R wRamn w1 sTeferereen
¥ o€t de iy @ fae gem Bl w0 oy 3E W 9
Tera 87

‘What is the importance of agriculture in Haryana? What

steps have been taken to develop it? 15
eamn & $fy w1 = wew 27 W fusfun s %
T -9 IUH T T 72

What is Rural Indebtedness? Describe the measures to
reduce rural indebtedness in Haryana. : (15)

T RO o ©7 SREmT W UrHoT SEOR i
HY & I SqE|

‘What do you mean by multinational corporations? Which
factors have contributed to the growth of multinational
corporations in Haryana? (15)

26025/1950/KD/654 2

9’

TgUEE A @ TR = Sl €7 TR Wl
F ®RU BEwT # s e % e Wl 9gmE
firem 27 .

Explain the main objectives and functions of Haryana State
Industrial and Infrastructure Development Corporation.

W
sRann T oiRif 9 SR fawm fre @ 1o
TewEl 9 HET B FUA HW

Explain the main items of receipts and expenditures of
Haryana budget. (15)

mwaﬁmmaWWﬁww
W U HR

"NABARD is the apex institution in the area of agriculture

and rural credit. In the light of this statement, explain
the main functions of NABARD. (15)

“efy o Tl w8 | e gate den 81 sw
e & Oed H TeR % e S % 9uF S

26025/1850/KD/654 3
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26036
BCE/M-24
COMPUTER APPLICATIONS
(Programming in C)
Paper : BC-205 (VOCQ)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt any four questions out of remaining eight questions
carrying 15 marks each.

Comi}ulsory Question
1. Answer the following :
(2) Explain the structure of C program.
(b) What are key features of algorithm,
(c) Difference between getch(), getche() and getchar(),
(d) What is array of string?
(e) Explain different type of array in C. (5x4=20)

2. (a) Explain various data type in C. @)
(b) Explain various /O fimection in C using suitable
example. @)

3. (a) Explain switch statement in C with example. (7)
() What do you mean by function? Explain various
benefits of function. (&)

26036/550/KD/642 4+ [P.T.O.
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7.

(2)

How break and continue statement work in repetitive

statement. (7
(b)) What 1is parameter passing? Discuss with
example. ®
What is pointer? Explain with example, (15)
Explain all type of operators in C. (15)
(a) Explain assignment and conditional operators in
C. (7
(b) Discuss about memory allocation and dynamic
memory allocation. ' 8)
Explain static variable and functions in C, @

. @

(b)

@
(b)

What is the difference between constants and
variables? How can we declare constants in C.  (8)

Write a program to find the highest of three numbers
using pointer. (7
Write a program to add fwo matrices. (8)

26036/550/KD/642 2



8. Explain concept of Mobile Applications. Discuss types and

sources of mobile applications. 15
TR STgIER W STEUNUT W1 SIS @il WS
arpEl @ TR SR S w R SR

9.  Write notes on the following :
(a) Data entry of various data types in excel.
(b) Preparation of speaker notes in PowerPoint.
(c) Printing in PageMaker. : 15
Fefafem = fooof fafex

(F) T | o= 2 =R e S ufatkl

(@) ERiEe # T e daR i
(M) et H Tl
26037/300/KD/622 4

11301 T AR———— Total Pages : 4

BCE/M-24 26037

COMPUTER APPLICATIONS
(Business Data Processing and PC Software-IT)
Paper—BC (Voc.)-206

Time ; Three Hours] IMaximum Marks : 80

Note : Attempt any five questions. Question No. 1 is compulsory.
AT . wE i I ST TeT 1 e R

Compulsory Question
(afEr w9
1. (a) Name any 4 DTP Software.

(b) Write 4 features of MS Word.
(c) Write 4 applications of Mobile applications.
(d) Discuss Spell checker in MS Word.
(e) Write 4 major differences between PageMaker and MS

Word. (5%4=20)
(&) el SR DTP WiweeR & W =aEy

(@ wWE o€ % =K fagimad fafE

CH HiaEe STTHErl ® 9R STIEn W fae

@) TETE T ¥ i e s R s

(¥ T iR TR 9 % oY 9K WHE IR e

26037/300/KD/622/Trans. $% [P.T.O.
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2.

S.

In context of Word, discuss :

(2) Line spacing.

(b) Word Art.

(¢) Textformatting,

(d) Page formatting. 15
52 & 9<d H, fFem st

(F) T Sl

(@) 9€ el

(1) WS HT WEI

(%) U FRET)

(a) Discuss software and hardware requirements for DTP.
(b) How SPSS is able to carry out data analysis? 15

(%) DTP & fou AR R TSR 1 sTavasae i
foa=m wifET)
(@) SPSS 29 fIeaw =8 A 99 UEH §7

(a) Explain use of Table handling in Word.
{b) Discuss Mail Merge with example. 15

(%) 52 ¥ it el & swim ) = =i
(T) 7 w9 @ TEeT SSEw % WY Sifeal

In context of Excel, discuss :

() Any 4 mathematical or statistical functions.

(i) Explain Formula insertion and use of IF statement in Excel.
15

26037/300/KD/622 2

TR & G A, foeem witg

() % IR TRE @ WERE He

() wRd ¥ e FEw ok F e & swEn w
SREAT FHSI

(a) Make a Slide show using 5 different styles of PowerPoint
(b) Discuss:

(i) Use of Custom Animation,

(i) Insertion of Tables.

(iii) Sound effects.

(iv) Use of Notes. 15
(F) UEREEE W Y SR-ore Al w I w

TH WIS I 9E)
(@) feE=m Hif .

() F=A YR B STER

Gy et o FEwEl

(i) = guEl

(iv) Tewmht =1 S

Explain Page setup in PageMaker. Also explain various
features related to table insertion and data setup intables. 15

YoieR o U STeIY wi ST St wikel ¥ Ser vesy
siR Wil FRTe 9 detim B fewaet =t ff s
EqiE L

26037/300/KD/622 3 [P.T.O.
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BCE/M-24 26047
COMPUTERIZED ACCOUNTING SYSTEM-
Paper-BC—-4415
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 is
compulsory. Attempt remaining four questions, out
of remaining eight questions carrying 15 marks each.

ﬁwwﬁ#mfﬁmmmiaﬁaﬁ
%1ﬁﬂanam-ﬁﬁﬁ"wmaﬂwaﬁﬁm
YSF w15 E T

Compulsory Question ( e U¥T)

1. Write shott notes on the following : 5x4=20
firetffea s feorfrd fafe: '
(a) Stock Group and Stock Categories.

e W AR wie A
(b) Secwity control.

e frm
(c) Payroll masters.

F )
(d) GST.

sl

26047/K/658/6,900 ' 2T .
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(e} Purpose of Fl‘l key.

Fl1 51 @1 3294l
Distinguish between Manual and Computerized Accounting
System. 15

mﬂaﬁ%eﬁtmﬂﬁﬂﬁ G o O - e
AT

Explain various steps to create XYZ Pvt. Ltd. company
in Tally. . 15

Tally & XYzmﬁzﬁﬁégmwﬁﬁfmw
T el Sl

What do you mean by Tally Vault password? Explain
various steps to set Tally Vault password for new company.
’ 5

oot sfee wwad § o W wmR 22 % e @
frg et afee Gred W@ w0 @ fafes =l =
SREIT ShiTSE]

For XYZ ltd, state groups for ledgers and create the ledgers
for the following transactions : 1§

XYZ fafiRe % fou, @rm o8t & o v =am ek
Frafafed @m & fog w8 s

(a) Mr, Ram started business with ¥3,00,000. _
8 A ¥3,00,000 ® WY HeEE e Rl
(b) Paid for office building ¥60,000.

HEE W % R 760,000 1w BEAE T
. 26047/K/658/6,900 2

(c) Paid wages ¥2,000.
%2000 wHeigd feam
(d) Sold goods to Dinesh for ¥6,000.
e = %6,000 ®# wHR =
(e) Paid salary 1,500,
71,500 g9 fE=m

Explain various steps to create Foreign currency and define
the Rates of Exchange in Tally ERP 9. 15

et 7@ @ m & fafoer =wof %1 e witey s
& damel 9 F fafm W W wRwfw s

Explain various Inventory Vouchers by using examples.
15

FIEWN FT FHEN o1& o= $del] ae= &t =
EH

Write down the steps to create Employee Groups and

- Employees in Tally ERP 9. 15

Tally ERP 9 ¥ wH9l ¥qg R wHal =1 &
fafa= =i &t =men st

Write down the steps to activate GST features. 15

stower gfamet =t gfes s0 % W fafew

26047/K/658/6,900 3
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NBCE/M-24 26141
COMPUTERIZED ACCOUNTING SYSTEM
B-23-COM-201

Time : Three Hours] [Maximum Marks : 50

Note : Attempt Five questions in eall, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks,

ToE TER U UF YT S0 B, w9 uiw we @
IW AT | ww gem 1 st 1wl v @
IF A § |
Compulsory Question ( 3TE= wg+)
1. Explain the following in brief : 5x2=10

(@) Tally Vault Password

(b) Gateway of Tally

(¢) Job Order Processing

(d) Tally Audit Feature

(e) Cost Centres.

frafafes &t W ¥ wEEY -

(37) W e TS

(&) it w1 T ER

() w ARY THERW

(z) ol sifee giand

(3) w0 ®% |

(3-32/9) 1-26141 P.T.O.




2.

3.

4.

B

UnitI @& )

What do you mean by company set up featurcs ? Explain
the different types of accourrtmg and mventory features in
Tally prime. 10

mwmgﬁmﬁmwmﬁ%‘ ? ¥t w=m A
o TR ® dEeEd R TG ghel w1 s
HfT | )

How computerized accounting different from manual

" accounting ? What are the advantages of computerized

accounting system ? - 10

W@r@ﬁﬁﬂqmé@m@rmmﬁﬁ%?
FEN FEHA TR B T dH ¢ 2

Unit 11 @a;ré 13}

How to create cost centre feature in Tally pnme ? Bxplam

the steps in detail. 10

ﬁa’rwﬁmﬁaqﬁm%ﬁmﬁ%?a@aﬁﬁw
Fwmel |

What do you mean.by lédger in Tally prime *How to
create ledger in Tally prime software. 10
S e OeR R 9 T e € 7 eEl WEH SIRew
F R BN TR T 2

1-26141 2

e e S e i o

6.

k2

Unit 111 G&6E 1)

What do you mean by accounting vouchers ? Explain
:va.tious types ,of accounting vouchers available in Tally
prime. :{ 10
e AR A o ¥ AwE € 2 % v #
s fafeel YR & SISl ISR i Al i |

Define accounting reports in Tally prime. Explain the
various types of reports in detail. 10
S wew ¥ omied Rod @ wRew it | falE
R 1 foe # R @ Ry |
Unit IV G&E IV)

Define the term Goods and Services Tax and discuss
the various methods of implementation of GST in Tally ‘
prime in detail. | 10
m@ﬁ.wwﬁqﬁq@ﬁﬁmaﬂﬁﬁmﬂﬁ
S, = wEE & faf w0 R & e

Discuss the term Payroll. Explain its featues. How to
enable the payroll feature in Tally prime ? 10

ﬁﬁamﬁmﬁqlwmmlﬁ
o A W gl s9 we w4 2

(3-32/1001.-26141 3 . 8,450
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NBCE/M-24 26142
- COMPANY LAW
Paper : B-23-COM-202

Time : Three Hours] [Maximum Marks : 70 °

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks. ;

YEH TR W Wk W TAd g, hA U W B
SW §feT |y wem 1 s € 1wl ue @
¥H WAM |

Compulsory Question ( 31 = Wy )

1. Explain the following in brief :
(@ One Person Company
(b) Red herring prospectus
(c¢) Promoters
(d) Share Certificate
(e) Capital Subscription
(f) Article of Association

(g) Preference Shares.

(7-23/7y 126142 PT.0.



Frafates = 999 o T
() w =fw ®

T @) T Tt wfEeR

(9) wads

(X) of9 TEr 9=

(3) T aifem

(%) ung sAaHaH

() TEndmR ofw |

Unit 1(5&T 1)

What is meant by Company ? What are the features of
company ? | '
SO q T STAUE € ? wER ot foRiwae s av
wifeg |

What are the provisions of Indian Company Law with
reference to formation of a company ?
wF wr ® free S ded ¥ g w e sifufrem <t
wEEestl st aviH HiE —

Unit IT (&8 1)

Explain the name clause of- Memorandum of
Association. How alteration in name clause can be
made ? . :

it S fE $ A 9 ) ARl N |1 AW e
¥ ufeads ¢ fer w1 whm ? ?

1-26142 . 2

What is Prospectus ? What important points must be kept

" in mind while scanning a prospectus ?

gRET W § 7 YR W SEelEd F wEd wE W

TREYUl W6 TW A T =ey ?
Unit T ( geRt$ 1H1)

Explain the term Director. What are the duties and
liabilities of directors ? '
e = g § 2w deiasl % e SR
<faeal @1 wo Hifey | ‘

What is meant by allotment of shares ? What are the
provisions of Law with respect to allotment of shares ?
S ® oNeT ¥ F AT § 7 IR B AESA H Tl
¥ atfufrm v w wmeeend € 2

Unit IV (318 IV)

What do you mean by dividend ? What are the factors
affecting dividend decision ?

wrie | w R ¥ 2 wnwiw H wied e e Al
T JUIE SIS | '

What is winciing up of company ? Explain the different
types of voluntary winding up.
oW TR Y s afawm € 7 WS W @
fafi= "R & 9uE Hieg |

(7-23/8) 126142 A 8,450
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NBCE/M-24 26143
PRINCIPLES OF MARKETING
B23-COM-203

Time : Three Hours] [Maximum Marks : 70

Note ;

Attempt Five questions in all. Q. No. 1 Compulsory
carrying 2 marks each. Attempt four more questions
from remaining eight questions carrying 14 marks each.
FA Ui TE B W AR | TR "o 1 eftee
M e R 2w T | IR AR
R T AR HE, TEE T 14 9w W R
Compulsory Question ( 31famd wgw)

1. ‘Write short notes on the following :

(2)
(b
(c)
(d)
(¢)

63
(2

Define Marketing.

Define Marketing Mix.

What is Globalization ?

What 'is Market Segmentation 7

Differentiate between Consumer Product and
Industrial Product,

What is Consumer Behavior 7 -

Online Marketing.

(3-33/11)L-26143(TR) ' " P.T.O.



3.

S.

Feafafen ® wiyw feufmr fafey .

(31) fowom =+ GRafsg ey |

(a) fauom fagor = 9Raf wifsg |

(®) dvetmtor w=w ¥ 2

(X) o™R fassq s € 2

(%) meﬂmmﬁeﬁhaﬁa\ﬁﬁw%ﬁan_aﬁt
iRy |

(F) SUsihl SRR ¥ & ?

(M) AT fawE |

What is meant by Marketing ? Discuss the nature and

scope of Marketing.

| e W s & 7 famom @ wwhy ek & W s

Hiwg |

What is Marketing Mix ? Discuss various elements of
Marketing Mix. \ :
forgor fismr & B 7 fowom faemw & fafeer ol w ==
HIWTY |

Define Marketing Environment. What are its components ?

faae R S aRenfyg FT 1 gEE TR wE E 2
Explain Marketing Segmentation. Discuss various bases
of Market Segmentation.

IR faaeT wt e ST | 9eR SaeE ® e
SR W= Hf |

L-26143(TR) 2

9.

What is buyer behavior ? Explain the factors affecting
buyer behavior.

BT TERR T T 7 Hhal SRR H YW wE A
FH w1 A R |

What is Product Life-Cycle ? What are the stages in the
product life-cycle of a product ?

TR, SeH-u% @ ¢ 2 Tl SR # SR see-ww A
P O BN ¥ ? '

Define Promotion Mix. Explain the main components of

Promotion Mix.

e s ) o SR | FER e S qe He

el SeHiE I

Explain different types of ‘Channels of Distribution’. What
factors should be considered in channel building decision ?
fafi= weR & ‘T Oa’ H e St | SEa
frmior fofg § &9 wRsAl | ER S osise ?

(3-33/12) -26143(TR) 3 8,450




9. What are the different offences which make an assesses
liable to prosecution,

= TRy SR-§ € ot ofraee & fae Pl =
TAGAT S 7

10. Describe briefly provision of Income Tax Act for Deduction
of Tax at source,

W W HR BT A AU ek siutEd @ S
TEEH  Sqd

14024/600/KD/158 &4

ERrSE = O & R R

Roll No. .. . Total Pages : 4

BCQ/M-24 14024

INCOME TAX
Paper-I (BC-301)

Time : Three Hours} [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
but not more than fwo questions from each unit. All
questions will be of equal marks.

AiE : TOE IFE W OHH ¥ 9H TE SR o 9 iy 2t
T W T OEE, ﬁawmﬁmlqﬁmé‘
gwm THH B

UNIT-I (gehrE-1)

1. "The general rule is that the income of the previous year
alone should be taxed in the immediately following
assessment year”. Bxplain the exception to this rule,

‘g frem ww § o frew o Wt o w @@
Freafefan emrem a8 ® wvmn s =Rl @ FEg @
YT FATBTI

2. Explain the following :
(a) Encashment of Earned Leave.
(b) List of Exempted Allowances.

(c) Provision related to House Rent Allowance,
(6+5+5=16)
14024/600/KD/158 [P.T.O.

M g5



3.

firer = =R NG

(%) sifla STaemTsT T TR

(@) sz I S &0 GEl

(M) TEE fEeE T W HeRm gl

Define the term Annual Value, Explain the deductions
allowed to compute Income from House Property with
suitable example. ' (5+10)
s g TR W TRl B STEHR ST F A
25w Wl ¥ o W T FW ® fag § W w H

= =R

UNIT-HI { Sehe-1 )

Explain the term Capital Gain. Write the procedure of
Computation of Capital gain with suitable examples,

(6+10=16)
o W R W S SN ST TR B
Ty YR @ w M whe R

Explain the Deductions which are allowed while computing
income from Business or Profession. Discuss Expenses which
are disallowed while computing income from Business.
(10+6=16)
o A W Y AT T A W W I H B
R vad fEe smaE 3 e el W oE e W
=R o F T R o e Al T S

14024/600/KD/1538 2

6.

8.

14024/600/KD/158 3

Explain the following with examples :

(@) Provision of Section 80 DD.

(b) Provision of Section 80 GG.

(c) Provision regarding Additional Depreciation.
5+6+5=16)

Frefatas &1 R S WH e W
() 9) 80 Sl H TEHHI
(@) 910 80 GG 1 WEHF
(M) e TR ® wed F OgEeEl

Explain the Procedure of Computation of total Income and
Tax Liability of a Individual (Age 65 year) with help of
example consideting all five heads of Income.

(8+8=18)
o & G uter ygEl R RER TR SEem w1 R
& fret wafw (65 oY) F [@ AW SR T I R
DU (e e Tz

UNIT-II ( SE-101 )

Under What Circumstances can be an ex-parte assessment
be made by Assessing Officer? What are the remedies
available to the assessee?

wﬂaﬁmﬁmmqﬁ@ﬁﬁ{q&ﬁsﬁﬁaw
mwm%?ﬁufﬂﬂﬁqmwmwé‘?
[P.T.O.
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BCQ/M-24 14025

COST ACCOUNTING
Paper-1I — (BC-302)

{ime : Three Hours] [Maximum Marks : 80

ote : Attempt five questions in all, selecting atleast pre question
not more than fwe questions from each unit. All questions
carry equal marks.

= ;. Taw IEE Y FE-R-F Um Y SN fie-g-ofie
| @ w9 ET e dte W R asd e & %
e §

UNIT-I (3%1E-1)
Define Cost Accounting. Explain the objectives and methods of

cost accounting, 16
AN TEET W uE R M qeied B SR
sk fafdl = =iem s

(@) Explain the meaning and importance of Material control.

(b) ABC Limited produces a product which has a monthly
detnand of 52000 units. The product requires a component
X which is purchased at ¥ 15 per unit. For eyety

P.TO.

1025/550/KD/323/Trans.
2 20/05




finished product, 2 units of components X are required. 3.  Explain the following :
The ordering cost isT 350 per order and the carrying cost (a) Meaning and causes of labour turnover and its effect on
i8 ]2% p.a. You are quui.rad fo: producﬁon cost.

(i) Calculate the economic order quantity for B Compasisan of Hilsey premi sohore Wik Rewit

premium scheme. (8+8=16)
Frafafen =t e = .

component X.
() Calculate extra cost the comnpany has to incur if the
minimum lot size to be supplied is 52000 units.

(i) Calculate the minimum carrying cost the company . (F) 5™ SRR 1 orf 3 HWW W SEEA WiE W
has to incur. (8+8=16) TUHT WE|
(%) gt FrEm @ @ Ok TR W =rEm W)

(@) et T S % e Yot W dse 5 ge
(@) ABC fofits wF Tw SR wer © few i =

W 52000 THEG B SR ® T T WF X
) eraegEd o € R 2 15 § wdw s R

_ UNIT-HI (E&hTE-11 )

o YR TR F fg W X W 2 v 4. The New Enterprises Ltd. has three productions Depts A, B &
savIEa et Bl ol W @i € 350 W ST C and two Services Depts. D & E. The following figures are
2ok ¢ 9N B IR 12% T I8 B es fEu | extracted from the records of the company :
AETE T N
@) wF X & fom sl oSt WET WY O E ] Rent & Rates 5,000
@ & emi = WY e W S TSR | Indirect wages 1,500

52000 IfE 2 & ot W B T oAt | Depreciation on Machinery 10,000

O ® R wY General Lighting 600
(i) FHIN W GEA W WM AR A e Power 1,500

= T w5 Sundry Expenses 10,000

14025/550/KD/323 2 14025/550/KD/323 3 [P.T.0.




The following further details are available : e afifte ferermer swwed &

Particulars Total A B c D E ‘_' e ¥ A B ¢ D E
Floor space (8q, F) 10000 2000 2500 3000 2000 500 f -

i (= BiE
Light points © 1 15 » 10 5 i ety 10000 200 2500 3,000 2000 300
Direct Wages ) 10000 3000 2000 3000 1500 500 : wehrl éig & 0 15 W W 5
Value of Machinery () 250000 60000 80,000 1,00,000 5000 5,000 5
Working Hours 626 408 406 — — AL = 150 6@ 3 0 10 —

Teiel = AEE (¥ 250,000 60,000 80,000 1,00,000 5,000 5,000

The expenses of D and E are allocated as follows !

A B c D E FrF H — . 6226 408 4066 — @ —

D 20% 0% 4% @ — @ 10% D iR E # Tl ) 39 ThR efeq w0 e

E : 40% 20% 3(.)% : 10% = ‘ & B C D z
What is the total cost of an article, if raw material cost is 5 -

1] ]
% 50, labour cost is ¥ 30 and it passed through department 20%  30% 40% — 10%
A, B and C for 4, 5 and 3 hours respectively. 16 B 0% 20% 30% 10% —
aq@q@ﬁfs{m%?ﬁawﬁmA,Baﬂtc TF I F /@ OE F T, AR Fed W H W
s 2 S few D ok B ) Feafefen siwe wT R 50 & omaTE 30T ARG BAMA, BIARCE
fertd | P T E T : 4, 5 SR 3 W TH TR L
T
e T 5,000 | 5. What is Cost Sheet? Explain its nature and advantages.
STy wE 1,500 -' Prepare a cost sheet with statement of profit with imaginary
figures.
T W IR 10,000 s 16
T T Sl 600 | UL PR &7 Tt WER T W W e Hih
kg 1,500 %‘qnﬁk’” Sl T W R w W T A
Eadl

fafsw &= 10,000 |

14025/550,
14025/550/KD/323 4 /550/KD/323 5 [P.T.0.




6!

The Costing Department of Jain Ltd. absorbs factory overheads
@ 60% of labour and office overheads @ 20% of factory cost.
The total expenditure for the factory is as under :

T
4,00,000
3,00,000
1,96,000
1,70,000

Materials

Labour

Factory Overheads
Office Overheads

10% of the output is in stock. Sale amounted to ¥ 10,20,000.
Stock has been valued at work cost in financial books. Prepare
a Statement of Cost and Reconciliation Statement. 16

A fftee = @rR TS Bed Suiemm & 99 % 60%
& w Y iR wEeE SuieEd B BE GIE % 20%
T SREIRR w2 HREE H e T W TR T

"
wrEht
il 3,00,000
FHEMA ST
Hie™ U

ST W 10% i ¥ 81 fE % it € 1020,000 R
fordtar T W T e R W fEe T g
e ol T e # frerw R w=W)

4,00,000

1,96,000

1,70,000

14025/650/KD/323 B

1

UNIT-IIT ( geTg-1I1 )

What do you understand by Integrated Accounts? What are its

T
essential features and principles? State the advantages of
Integrated Accounts. 16
THIFT TR T ST T TR 8?2 TIH] SETH Foreimant
e fogia =0 T2 THEd wh S W TaRd)

8. The product of a company passes through three distinct
processes to completion. From past experience if is ascertained
that wastage is incurred in process as under :

Process A 2%; Process B 5%; Process C 10%.

The wastage of Process A and B is sold at ¥ 10 per 100 units

and that of Process C at ¥ 80 per 100 unifs.

Following is the information regarding the production of

March 2019 ;

Process A Process B Process C
4 g 3

Materials 12,000 8,000 4,000

Direct Labour 16,000 12,000 6,000

Machine Expenses 2,000 2,000 3,000

Other Factory Expenses 3,500 3,800 4200
14025/00/KD/323 7 [F’TO



20,000 units have been issued to process A at a cost of
T 20,000. The output of each process has been as under :

Process A 19500 units; Process B 18800 units; Process C
16000 units.

There was stock or work in progress in any process in the
beginning and at the end of March. Prepare Process Cost
Accounts and normal wastage, abnormal wastage and abnormal
gain accounts.

firft T A SR YO EW % W SE-He
yEael @ B W TRa 8 fow ogYe § W' T
oo ¥ 5 Pretafow whem A owem® W ¥ :
YiEhaT A 2%; U B 5%; Wi C 10%.

T A S B 1 o9 2 10 W 100 IFR IR wiE
C w1 99T € 80 R 100 g W S wR B

wE 2019 B SERT W WAl AR T TR §

gEa A AR B WEEE C
‘ S T 7
T 12,000 8,000 4,000
TER S 16,000 12,000 6,000
S & wH 2,000 2,000 3,000
e Bed o 3,500 3,800 4200

% 20,000 F TR T YRHA A F AT 20000 THEE G
F T ¥ 7T WhET W1 TeSE T UK B

R A 19500 SSTEAn; WheaT B 18800 SEAl; Wi C
16000 SHEET

14025/00/KD/323 8

e @ et o) ofa W Tt «ff wisar A ©fw W w1
g A e (I 75 G el el o e
ST SR ST WY EW TR H

9. What is Variance Analysis? Explain the possible canses for
material cost variance and labour cost variance. 16
e FIeew T 87 el W e SR sm er
ferar = Hewifee wReR w1 SR W

10. The Statement of marginal profits of XYZ Ltd. is as uhder :

T
Sales (16000 units) 3,220,600
Variable Costs ( ¥ 15 per unif) 240,000
Confribution 80,000
Fized Costs 60,000
Profit 20,000
Calculate the profit-volume ratio and then on the basis of
P/V ratio, determine :
() Sale for 40% P/V ratio.
(i) Break-even point in rupees.
(i) Coniribution when sales amount to¥ 2,56,000.

14025/550/KD/323 9 [P.T.O.



(iv) Margin of Safety when profit is ¥ 4,000,
(v) Variable Cost when sale amount to¥ 2,56,000.

(si) Percentage of profit on basis of percentage of Margin of
Safety, when the sale amount of ¥ 3,20,000.

(vil) If the selling price per unit reduced to ¥ 16, the new sale
volume to off-set this price reduction.

(viii) Sale to earn profit of ¥ 40,000.
xy7 Rt & WWie o9 %1 TR W TeR ¥

g

fagt (16000 FHTEED) 3,20,000
qReRE T (% 15 Wi 9fe) 2,40,000
R 80,000
GGG 60,000
e 20,000

SIT-AET ST H M W R R P/V S %
amuR R freife =

@ 40% P/V IR & o fasmil

G) T A wrv-oTee fEg)

i) fospt fe € 2,56,000 BH W AL
(v) 9 9 T 4,000 B T GRET H A

14025/550/KD/323 10

(v) iR arm s e it € 2,56,000.

(vi) TR I % TR @ STYR W 9N W SRwE, 5"
fomt @i < 3,20,000,

(vil) AR wie e oot oo9 Je < 16 & wrn B, o
Torsht AT 59 whow H wH WY G w2

(vili) ¥ 40,000 =T @9 FHA & fag fem

14025/550/KD/323 19
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BCQ/M-24 14026

FINANCIAL MANAGEMENT
Paper-III (BC-303)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit but not more than fwo., All questions carry equal
marks.

AT : TG THEE § THE WH H HI W TL WlET w9
iy Y, o fomet dier gl o T s Wl
T W AN o §

UNIT-I (E&-1)

1. Define Financial Management. Discuss objectives of financial
management,

i weua 7 o w felg v ® sewEl |
ki T

2. What do you mean by financial planning? Explain the types
and importance of financial planning.

it Freiem @ o W wWER £ Bew fEeR @
TR UE He & AT HISel

3. Whatis the under-capitalization? Explain the causes of under-
capitalization.
w0 G F= 8?7 FA e ® SR w1 s
oy
14026/550/KD/161 a4 (p.T.0.
. 22/5



8&

9l

10.

What do you mean by long-term and short-term sources of
finance? Explain short-term sources of finance in detail.

g & EEm qo ST Wil ¥ 9 TR 9hEm
27 fom & ol Whl W R @ gy

UNIT-H ( 3811 )

Explain the significance of cost of capital.

Gl FT TG H FE i ARl Wil

What do you mean by working capital? Explain the needs
and nature of working capital.

FEiE Y ¥ o T TR §? wEfE g &
SMEIIHA TS FEid I SARA FIT

Explain the determinants of capital structure.

TSt wWE 5 fufel ®) emen sty
UNIT-HI ( See-100 )

Explain the methods of capital budgeting.
gt sees W fafvel Wt sren S

What do you mean by leverage? Explain the difference
between operating and financial leverage.

eRsT oY W WHEe 7 uiEen o frdm suem
F oW S T e

Briefly explain the nature and issues in dividend decisions.

mmmﬁvh’fﬁma?r{aﬁﬁﬁmﬁmwaﬁl

14026/550/KD/161 2
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BCQ/M-24 14627
BUSINESS ENVIRONMENT
Paper —~ IV
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question but not
more than two questions from each unit. All questions carry
equal marks i.e., 16 marks.

e Ww@ﬁaw#w&eﬂtaﬁlwﬁﬁw
TE FF U A HITC) 9 g % i waw ¥, arerfq
16.

UNIT-T (3T-D)
1. Explain economic, social, technological, political and natural
components of business environment,
IS TELT % SUH, WS, TEwt, TS
R wEles e W) SmeM Wi

2. What is the extent of poverty in India? Discuss various
measures adopted by the government to eradicate poverty.

R # T # d w27 TR BN e e @
fow st o fafes sl # fadem =it

14027/550/KD/324/Trans. Mo,
27/5



3.

What is meant by Balance of Payment? What are the causes
of adverse Balance of Payments in India? How can it be cor-
rected?

TR Hged § o AfwE 8?7 wRa # whge g
Tgem & w0 SRO 22 5@ 9 T fem W wwaw 27

Write notes on the following :
(2) Industrial Sickness.
(&) Socialism.

frefafem w Tt fafer .
(%) et Tom
(E) TR

UNIT-II (Sh3-I0)
Discuss the features and instruments of Monetary Policy of
India. Give suggestions to improve the Monetary Policy.

R & Afgw At @ fstvme ok Sl =t faEem
Hitwm AifgE A § TR w0 F gue 3
Discuss the Fiscal Policy of India. Discuss its limifations.

ORE FT e iy w1 e S see dien it
Taeemm mifaw)

Critically examine the main features of Industrial Policy of 1991.

1991 = st iy =1 TEa fomivmell w1 TR
TG FHioIQl

14027/550/KD/324 2

16.

UNIT-TII (3TE-110)
What are the various components of International business
environment?

Sl SR FwERer @ ot wew w2

What are the objectives of International Menetary Fund (IMF)?
Discuss the benefits of IMF for Indian ¢economy.

Sl TEEH (IMF) & S89a w1 87 AR sieforemen
% fo MP S @l = R S

What are the functions of World Bank? Discuss the role of
World Bank in the economic development of India.

foge ¥ = od | ¥ T % s foew ¥ fave d9%
% s = e Wk

14027/550/KD/324 3



10. Write short notes on the following :
(a) Sub-Brokers.
(b) Market-Makers.
(c) Portfolio Consultant.
frefafer R Hfige feofort fafew
(F) ST-game| '
(@) T i
(M) dEHIE FeARHR

14028/500/KD/840 4
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14028
BCQ/M-24
FINANCIAL MARKET OPERATIONS
Paper : V (BC-305)
Opt. (@)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one
question but not more than two questions from each unit.
All guestions carry equal marks.

e ; TIF THE W FH Y B TH a1 fwaw 5 yeRl
H5 B g4, B US T & I QT wft v ®
&% qEM T

UNIT-1 (3hTE-1)
1. What is Money Market? What are its characteristics?
Also discuss the importance of money market.

qR AR w27 Tl w e €2 W qew W
oA A BT

2. 'What do you mean by Secondary Market? What are the
factors which are helpful in the growth of this market?
Also differentiate between primary market and secondary -
market.

TEEF SR Y ST F41 ST 27 T TR B e
¥ UEEE UeH B-d W 52 WufE GeR a0 weE
HEIR IR o TR Sifsg)

14028/500/KD/840 % P 1.0,
29/5




3.

6‘

What is the meaning of Stock Exchange? Explain the
functions and importance of stock exchanges in India.

wiF TS W = o B2 9§ W e 8 w6
T8 A8 &I FUM il

Write short notes on the following :
(a) New Issue Market.

(b) Listing Procedure.

frrfatee w Wi feafoet fafeay ; -
(%) 78 Tl e

(@) geiega TRaa

UNIT-II (3hts-10)
What do you understand by Securities Contract
(Regulation) Act, 19567 What are the main provisions
of this Act?

wiafa ey (Frama) sifufem, 1956 © o T waen
27 T T WOUH BE-w § 87

What de you mean by investors’ protection? What are
the common grievances of investors in India? How can
these grievances of investors be removed?

Frawer! =7 WReT ¥ e w sifwwg 27 Prewel &)
g firehrae - ot ¥ Fawet wt o R
&9 R fear o1 wHW 22

14028/500/KD/840 2

7.  Write short notes on the following :
(a) Objectives of investors’ protection.
(b) Role of Corporate Governance in investor’

protection.
Frefafen R wiyw feoforl fafeg -
(%) Trermel =t g & el
(@) Freowmml st W ¥ Tvm @ Sefm e Tl =
el
UNIT-TII (3oT3-1H0)

8. How will you define SEBI? What are its guidelines for
the public issue of shares and debentures?
R i we fafe sl ®) o SR i
aell wd WO & wewbe R ® e we W
fmfae ¥

9. What is the meaning by merchant banking? What are its
functions? Discuss the role played by merchant bankers
in India,
=i SRR ¥ T F sitoE 87 st Sfe
% w0 % §7 e SEd W ARa § e W A
iR &1 SuiT Hifsg)

14028/500/KD/840 3 [P.T.O.
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BCQ/M-24 14029
INVESTMENT MANAGEMENT
Paper — V (BC-305)
Opt. (ii)
Time : Three Hours] [Maximum Marks : 80

Note : There will be 10 questions in all. The candidates will be
required to attempt five questions in all. Selecting atleast one
question but not more than fwo questions from each unit.

e : wew 9 0 B9 <9 WA B Themef 6 e e v e
Tl TEF TR ¥ FU-8-% TH AR sfw-v-afuw @
YA S

UNIT-I (3513-1)
1. Explain the meaning, nature, process, and altenatives of
investment.

fraw =1 o1, wafa, whFen ok fowew =1 =mEm Hifv)

2. Explain the concept and measurement of investment risk and
explain the procedural aspect of identification of investment

opportumty.
Fraer <ifigs # sTHYRon e WY W sanen Wit ek

TR oo F WM % IREAAE T6T BT S R

14029/150/KD/873/Trans. 3‘{'\ [T,
29/5



4‘

7.

What is a stock exchange? Explain the trading system and 9. Differentiate between options and futures.

listing procedure in stock exchange in India. foaredl ok aEE & o9 SRR @ ifeal
Wi TS T §? 9RG A e e ¥ e yomeh .
ok fafen s 51 =mem w3 19. Explain the various investment performance evaluation models.

oty Frewr et woaise wisal @1 = wll

UNIT-II (iE-10) )
Explain with example the fundamental analysis and differentiate
between fundamental and technical analysis,

Hiferer THYeiooT ) SIETT & WY = Fie iR wifew
3R T favevo @ f" SRR Sl

Explain the following :
(a) Dow theory.
(b) Random Walk theory.

Trefafes =1 =men Sy .
(%) T8 Tasi
(@) srfo® d@iw faga

Explain the methods of valuation of equity with examples.
st & eaien st fafeEl @) Sk wiew sawem
HifoTT|

What is bond analysis and bond market efficiency?
wie faveem iR i SR seEr =@ 82

UNIT-III (SeFT3-II0)
Write a detailed note on CAPM with appropriate examples.

CAPM R 3faa Sqew & iy fowgm feoeht ol

14029/150/KD/873 2 14029/150/KD/873 3
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BCQ/M-24 14030
ADVERTISING AND SALES MANAGEMENT"
Paper-BC-306
Group : VI
Opt. (i)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
from each unit but not more than fwo questions from any
unit. All questions carry equal marks.

Ae : TOF HE | S W W Tw WA ek fuw @
ofeer & wedl & 9E S T /A U WA W
s R Wl T ® slw wA e g

UNIT-I (FohTe-1 )

1. What do yon mean by communication ? What is the role of
communication in marketing? How can marketing
communication be made more effective? (16)

WO § sl # o 87 frem # WeR ® ofEm
0 2?2 UM WER @ Ak oM waEl 98 s St
WHN 87

2. Define advertising. Explain the functions performed by

advertising. _ (16)
fagms =0 gfonfa =% fGwes g0 BT T et w
e

14030/450/KD/166 ﬁ)ﬂ& [P.T.O.



6.

Explain various economic and social aspect of advertising
in brief. ' (16)
dam § fomrm & = onfis ok wmifves wee =i
THARTI

What are the common practices in use for determining the
size of advertising budget. (16)

e e % SR W MuRw W @ fau wms
EAER F 67

UNIT-1I (otE-11)

What do you mean by message content, message format
and message source? Explain main advertising appeal
considered by advertisers in designing the ad-message.

(16)
ww T, WY WET SR R W Y A
B fommm Ww W et W W et gw
foeR frg m ger faamm ovier # =mem wi

Explain the important consideration in selecting advertising
media. What are the difficulties in selecting advertising
media. ; (16)
foarm difem =1 w9 ¥ § Tewq R % e
| o fifem w1 www w0 A wfeTea ¥ 22

14030/450/KD/166 2

7.

10,

What do you mean by advertising department? Discuss
various functions performed by advertising department.

(16)
formem TR @ TR S Wowe ¥? f e gRe
frr o fafvs s w ==t W

UNIT-II ( geRTe-Il )

What do you mean by sales organisation? Explain the
functions of sales organisation. (16)

TRt Wed © oMU S ARed 87 T Wed % ot
T R Hi)

What do you mean by sales budget? What are the advantages
of sales budget? Outline the step in sales budgeting process,
(16)
fort a9 ¥ oW w AR ®? TR B oSSR %
TR 27 foenl wwe Wi @ gl =l St wwen
Cay
What do you understand by sales quota ? Explain the factors
that determine the sales quota. Also explain the limitations
of quota system. (16)
o H ¥ oW WER §2 feR s freif e
AR EREAI hl WAGI BT HOUEN H Wmed e sft
pEeEy

14030/450/KD/166 3
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BCQ/M-24 14031
INTERNATIONAL MARKETING
Paper—VI (BC-306)
Opt. (ii)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
but not more than rwo questions from each unit. All
questions carry equal marks.

m_:m%@ﬁm%ww%ma’r
oAl T UFH R U, el We W sifeel wef
Y H S WA B

UNIT-I (§oie-1)

1. Explain difference between international marketing and
national marketing. 16

st faurm ok U fauom # ofm wre wHifem)

2. 'What do you understand by international marketing
environment? What are its components? Discuss. 16

FaiE TR ameRT W OSNT ¥ WEER 87 TN
ek AT ¥ ¥ 90 st

14031/200/KD/165 [P.T.0.
gv 31/5



Discuss in detail the selection process of a foreign market.
In this context, what do you mean by preliminary screening?
16

el R 99 & AEw @ Twr § 9ol st
W e A oM TR ®e-dN § oY T 9EEw 7

UNIT-I (gohTg-11 )

What do you mean by product development? Explain its
importance. 16

TR fHE w1 w1 o 2?2 TUE Wew wasul

Describe the functions and importance of packaging. What

are the special considerations in packaging and labelling in

international marketing? 16
i ® v vew %l YHIRy e fouvm
YR don vt & Wy s R o g 9l
H TR R

‘What are the main price strategies in international marketing?
16

iy frove § SR o ol geE R @ uge
fifg-fifed wm-< ¥?
Explain the necessity of international payments. 16

AL YTAE BT SERAHA ITTA B B BR
CREIEM

14031/2006/KD/165 2

UNIT-III ( oRTE-100 )

8. Explain the selling process in detail. 16
o ufEa o fTwR ¥ IR

9. Narrate the different channels of export trading. Discuss the
modern trends in channel decisions. 16
Traia =R & fafim T el &6 saee) Srem-Toia
ST MY WafwEl 1 Sue il

10. What are the points that you would keep in mind while
selecting an agent in a foreign country? 16
fekut § eifral W THE A GG oMW R WEl ™
ER w02

14031/200/KD/165 3



Roll No. Total Pages : 03

~ BCQ/M-24 26069
MANAGEMENT ACCOUNTING
BC-601
Time : Three Hours] [Maximum Marks : 80

Note : .Attemp't Five questions in all. Q. No. 1 is compulsory.
. Attempt four questions from rernammg eight questions.

e U T @ SW Y | 9 den 1 sitad

T oo T W ¥ OWR WA % IW S |

1. Attempt the foilowing questions in bﬁef :
. (i) Discuss significance of Mandgement Accounting,
(i) Explain types of Management Information System.
(iiiy Explain debtors turnover ratio. | ' |
(iv) Discuss need of budgeting control.
(v) Explain cost indifference point. 5x4=20
frafafes W @ waT § W G
() VE YEET ® Tew W O #i |
(i) TSR YT TWONER & WHR % Sed Fig |
(iii) TR TR oUW W A WY |
(iv) o2 FrFm & sewEasda WS Wi |
() o SRR g T TR HiS |
@-03110)L-26069(TR) -~ P.L.O.



2. Define Management Accounting. Discuss its scope. How

is Management Accounting different from Cost
Accounting ? _ 15
TEE W@iE ki uRenf ST | gee g w® o=l
HNG | T ‘é@m e wEieT 9 e FER fi=
-3 -

Explain Management Reporting. Describe the need and
types of reports. 15
Ty fofdn W s s | o 5 srawEa ™
- TER F I B |

Discuss the types of Budgets. Explain essentials of
Budgetary Control System. 15
T W OWEN W 9= FRT | s s el s
SFEdaed #t W | :

What is Cash Flow Statement ? Prepare Cash Flow

Statement using imaginary figures. 15
ﬂﬁmﬁaww%7mﬁ$amm’fmmm
gqﬁmﬁaw%mﬁﬁql

Sales Rs. 60,000; Fixes expenses Rs. 15,000 and Variable
cost Rs. 30,000. You are required to calculate P/V Ratio,
Break-even point and Margi;r-of éafety. 15
FRt 60000 %, feR =@ 15000 %, WRedE @

30,000 ¥ | oY @w-"El oguW, wA-fedk fag ek

CGRN &% AN H) TR ST

1-26069(TR) 2

7‘

What is Cost-Volume-Profit analysis ? State its
assumptions and applications. 15

. W—W—WWW% 7@##!%@3@@“

" 8.

e |

From the following information of a Company prepare
Balance Sheet : '

Working Capital Rs. 75, 000 Reserve and Surplus
‘Rs. 1,00,000; Bank Overdraft Rs. 60,000; Current Ratio
1.75 : 1; Liguid Ratio : 1454 1

Non-Current Assets to Proprietor’s Fund : 0.75. 15
et R W Frefafen SEER @ SIS fiea dan
B : ' ‘ _ _
FrEEha o 75,000 ©; WA SR SRR 1,00,000 %;

o sfufemd 60,000 % W SWA: 1.75: 1; Wl

AU : 115:1 i
Afers & Y F TR-wg "Wahw : 0.75.

What do you mean by Comparative Financial Statements ?
Discuss types of Comparative Statements. How
Comparative Balance Sheet is prepared ? 15
s e e 9§ o @ UEn € 7 geeies
Fodl B AR W UN WINT | qorwEE A e
HY TR fEw W g 2

(2-0311) 1-26069(TR) 3 . 8,200
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' BCQ/M-24 26070
FUNDAMENTALS OF INSURANCE
BC-602
Time : Three Hours] | ) [Maxinmum Marks ; 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions out of remaining eight

questions.
A WH WA & IW HfT | T wew 1 sfEr
2 twmmﬁﬁﬂwmﬁémﬂﬁm
Compulsory Question ( S W)
1. Short answer type questions : : 5%4=20

(i) - What is the national aspect of importance of

Insurance ? _ '

(i) Name the different ‘;ypes of revival of Life hlsu,ranceh
Policies. '

(iii) State the scope of Fire Insurance.

(iv) State Voyage and Cargo Policy.

~ (v) What is double insurance and what is provision in
motor insurance regarding it ? .

(3-07/3) 1-26070 -P.T.0.



Y SWE WA

@ I % HEN W UE wm w § 2

(i) . Eﬁaﬂzﬁmm@r%ﬁﬂm%ﬁﬁﬁm
P T WEE |

(i) s @ w8 SEET |

(iv) wie eeen SRNT WA Uit % SR W ey |

(v) [ d oww T oawr TR SRR A S
WEEH ¥ % ?

“Insurance is an instrument of distributing the loss of few
among many.” Explain in defail. 15
“ﬁm%mm%sﬁﬁ%ﬁﬁﬁgﬁﬁaﬁﬁ?ﬁ
H wew & 1" fywr ¥ Tt wikw

3. Who are the parties to life insurance contracts ? Explain
their rights and duties. _ 15
S i SigEY ® WER WH T 2 I SN
Faedl & qUA BT |

4, Write fmtes oh the following : : 15
(aj Assignment in life insurance
(b) “Nomination in life Insurance.
Trfafeg = fewfmr fafey :
(i) Siem @\ W e
(i) e i F w1

1-26070 : 2

Explain the different principleé of fire insurance in
detail. ' 15

aﬁﬁm%ﬁﬁwﬁ@ﬁmmﬁaﬂﬁﬁml

What do you mean by claim ? Explain -the process of
claim in relation to marine insurance contract. 15 -
@ ¥ v F AfawE § 72 Wl WM oemsey @
Tk S 1 YR w1 9UR i |

What is Motor Insurance ? Explain the procedure of
effecting an insurance policy of motor vehicle. 15
Hex i @ T ? WX WER B s Ui R s
TR Bl U HT FOH RIS |

Explain the geéneral and specific policy conditions in
relation to Motor Insurance. _ 15

Hiex s § Temer qen T vifes et s glT S )

Give the code of conduct for insurance agent in
detail, 15

aﬂmqﬂz%mmﬂaﬁmmﬁmﬂﬁwml

(3-0714) 1-26070 5 7,950
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‘BCQ/M-24 26071

HUMAN RESOURCE MANAGEMENT
BC-603
_Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Do any four questions from
the remaining eight questions.

v g 1 orfed © 1 YW osie v A ¥ R
R e % IW G . ’

1. Write short.notes on the following : 5x4=20
(a) Objectives of Placement
‘(b) Scope -of Human Resource Management
(¢) Contents of Job Description
(d) Difference between recruitment and selection
(e)_ Transfer.
et W i o fafen -
(1) wEde & IF
(F) T HEET A W 89
(w) wE-fET & o
(D T W FTE A I
(3) . TIHIE |

(3-07/5) L-26071 . 3 _ - RT.O.



P Prie e oa

What is Human Resource Management ? Explain the
‘mportant fimctions of Human Resource Management, 5+10

AT W WS W R ? ARG GENR W W ged

FE B U R |
Define Human Resource Planning. Describe its importance

and objectives. _ ) 3+6+6

e T ﬁFﬂEFFEHH ? 9P TET o IeXA F gUA
wIfeTT |

What is Job Ahaiysis ? Bxplain its methods. ‘ 5+10 -

Fr-frgdyer g 2 Eﬁaﬁ'faﬁﬂn i Eﬂﬁa e |

Explain the various sources of recruitment. In your opinion

which one is the best and why ? T 1045

odl & . e tn&r? B g WA | enud HaEER

[ W oSl §oawr = 2

What do you mean by Induction ? Explain the benefits
and contents of Tnduction Programme. 3+6+6
AT S S, S § 2 e s @
9 o = A FiRT |

Define promotion a.s-é sources of reeruitment. Differentiate
between promotion and transfer. ' 5+10

TG % UE WA % e H OURIAd B uReme éﬁ%ﬂa |
‘EUE?H'QQ zaFnavn'ﬁ SRR i |

126071 ' 2

8. What is the significance of training ? Expalin various

niethods of training. . . 5410
wiiEm s wew € 2 wiie w1 ffE fafr
uiF HifET |

What is meant by performance appraisal ? Discuss zits '
significance and objectives. 3+6+6
ﬁwwws ?m%ﬁaa—&mmmﬁ_
WY l

. (3-0716) L-26071 - 3 ' ' 7,900
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 BCQ/M-24 26072
INCOME. TAX-II
BC-604
ne : Three Hours]. _ .[Maxim;.-xm,Marks : 80

lte : Attempt Five questions in ali. Q. No. 1 comprising of
five short answer type questions carrying 4 marks each
is compulsory. Attempt any four questions- from
remaining eight questions. All questions except Q. No. 1
carry 15 marks each. )

e wre el @ s 4 1 T wen 1§ O
o sata T € T e 4 ofF w % v
21 99 I v ¥ | Rl e W % SW AL
o1 gEm 1 B ot ol W 15-15 3% ® ¥

Compulsory Quiestion ( stfEr 79)

| (8 Who can claim deduction u/s 80D dnd how much ?
9T 80D & ded HoMl W T B WU Whdl €
s fm 2

| () State the difference between “Gross 'i‘ofal Income’
and the ‘Total Income’. ‘ )
‘e e A SN e o @ e St Ry |

112)L-26072(TR) PT.0.




(@

@

(e)

Wha:t; do you mean by ‘Book Profit’ in a partpership
firm ?

G@ﬁﬂﬁ‘gﬁ'ﬁﬁ'ﬁmwwﬁ%?

When a person is liable to pay Advance Tax ?

B = i T H PEH G B far

st € 2 ‘
State the difference between Rebate .and Relief of

1ax. 3
R = we OR W ® o= W TR |

Explain the Income Tax Act provisions relating to Section
80C. _
sty SAfafEe w g/ $0C  HelHd HEFE] T STl

Mirs. Arnita Raman, Finance Manager of ABC Ltd, Mumbai

furnishes the following. particulars for the Previous Year
" 9022:23 :

(a)
®)
©
(d

Basic Salary ¥ 16,000 p.m.
D.A. T 6,000 p.m.
Bonus 3 months’ basic pay

Commissien ¥ 1,000 p.m.

L-26072(TR) 2

(e)

(£
(®

"()

)

(k)

M

Contribution of the employer and employee to RPF
is ¥ 28,000 each.

EA T 12,000 pa.

Allowance to meet the cost of education and hostel
expenditure of three children @ T 5,000 -p:.-a-.- each.
Reni-free unfiurnished accommedation i Munibai
provided by the company for which company pays
a rent ~£ 4 2,60(}. p.m.

Housi-,ng. loan of I '_5','0@,0_00 at the interest rate of
6% p.a. was advanced on 01-10-2022 (No repayment
;nade during the year). Assume interest charged by
SBI on such loan @ 10% p.a..

A watch costing ¥ 4,800 was glfted by the company

on foundatien day of the comparly.

A car which was purchased by the company on

10-08-2019 fol*' T 4,00,000 was sold to assessee on.
16-09-2022 for’ ¥ 1,80,000.
Her minor sen earned an interest of € 7,000 on the

fixed deposits- made with PNB.

(m) ‘Assessee earned dividends amounting to-¥ 10,000

(Gross) frem: Indian companies. -

$-12/13)L-26072(TR) : 3 - RT.O.



She made the following payments and investment during

the previous year : -

(i)- Med-ical insurance premi'um paid by cheque for self
I 5,000 and for spc:.)use T 7,000. ‘

(i) L.LC. Pension Fund ¥ 11,000.

(i) Premium paid to insure the life of her -majolr son
¥ 20,000. '

(iv) PPF deposit T 41,000. - ' .o

_Compute the taxable income and tax liability of Mrs

Anita Raman for the Assessment Year 2023-24.

wc%ﬁawﬁﬁﬁﬂwwmﬂmmnﬁ
T 2022-23 & faw Frerffan e T w6 ¥

(31) 7@ 9= T 16.000 wiw W@

(%) Wews Wl T 6,000 Wi WE

(W) sF@ 3 WH W 9w S

(). wHiTE T 1,000 3fa =@ - |
(3) frmm ok =/ w1 RPF ¥ dem welw =i

28,000 ® | .

(%) 3T % 12,000 iy o 5

(D T T A e ok e e W U oww 8
| %EMﬁfsooeyﬁaﬂaﬁqﬁW{

L- 26(}72(’[ R) : 4

(%)

)

(1)

(=)

(=)

mﬂ%@ﬂ%ﬁnﬁm—gﬁa@mammm
mmé,mmmwﬁoom%m
6% W o F =S W W €500,000 % amry
R H aiﬁmw 0?1--i1:0;2022- @ o m e
(af & W * T T R T |
wwsmmxﬁaﬂm%ﬁﬂﬁmm
LS e o
m#mﬁwwmmuswaﬁnﬁ
W SR A G o

TF FR R S Y 10082019 T ¥ 4,00,000
A R o, e w5 16 09-2022 1 ¥ 1,80,000
o9 f W e .
S TR 42 Y PNB ¥ T wml wr w
X 7,000 &1 st ofda faeag -

g 25,000 ok o % R 7 7,000 fe

(i) TweEs Fem wve 7 11,000,

(-12U01,-26072(TR) - B T




i) SoR e 42 & <hew A A S e A
6 WEH- ¥ 20,000 fEm oo

-

(iv). WRATE w8 % 41,000 |

F-FeRa 96 202324 & fou sind o wwm =@

Write short notes on the fol-lb\;iﬁing'; :

(a) ‘Wo_rkin_g' ﬁ'artneiﬂ- and 'his remuneration.

‘ o) Assessment as a Firm U/S 184, |

(1) Rl WK ok so@ wRufs |

(@) 99 184 H wEd T wH B w9 A F-fruier |
What do you mean by ‘Pay as you earn Scheme® ?
Explain the provision of Income Tax regarding 1t
%?‘@ﬁaﬁm%-maﬁm’twﬁﬁq |

Discuss the powers of Central Board of Direct Taxes or .

Commissioner of Income Tax.
FA TR W A A ARER AYE w TREE W =
HitoT | '

L-26072¢TR) L6

Explain briefly the different types of assessment.
F-fuier & fafm= gl o gl § weemsd |

Under what circumstances can the Principal Commissioner
or Comimissioner of Inceme Tax reduces or waives
penalties ? Explain.

T wRfeafral & 9um srgem @1 s SR Ei
U HF m g 2 =mem ®ita |

Describe the different modes of recovery of tax.

- HH R w gl W s

i

(3-12/15)L-26072(TR) - 7 8,600
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BCQ/M-24 26073

BUSINESS ENVIRONMENT
Paper : BC-605

Time : Three Hours] _ [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

o T e S sw AR 1w e 1 s
2|

1. (@) Why is it important to study business environment ?
SIS SeReT S Seagd . R/ Teeg § 2
(ii) Differentiate between public and private sector.
aEwtE &R frel &3 ® @9 ofm Wifem |
(i) “All MNCs are ICs buf all ICs are not MNCs.”
Explain _
Mg tow EE. T dfe wh ol wme
@ wdff § 17 e wif ‘
(iv) Why was FERA replaced by FEMA ? :
FERA %! FEMA BRI wiweenfys s fma m ?
(v) Discuss the characteristics of foreign exchange
market. | ~ 5%4=20
et o0 TR Y el woEE St |

{(7-07/5) 1-26073 (TR) ' P.T.O.



2.

Why is there need to scan the environment ? Explain the
environmental scanning techniques in detail. 15

TEGW W T W B SETEERT F § 7 YHER

T deal B R § TS |

‘What is privatisation ? Upto what extent privatisation is
required ? Give justification in support of your

- answer. . - 15

ﬁﬁmw%?mﬁwﬁsﬁwﬁm%?
mﬁw%mﬁqﬁaﬁﬁ!ﬂm -

Why has India adopted mixed economy ? Are we really
getting the benefits of mixed economy ? - 15
e 3 fafsw sefsgeen = o ® 2 w0 wegw o
b seiomn o1 o e w R ?

Wl-;y did economic planhing fail in India ?
Which machinery has replaced economic planning in
India ? ' 15
9Rd 9 et Friem fva o= gen ? ana ¥ oniiw
AT s o frr et ¥ @ e ¥ 2.

Discuss quantitative and qualitative measures of Monetary
Policy in India. Is Moretary Policy achieving its
objec;‘,ive:s ? . i5
aRT | HifEw i & AEes R e Sl | sl
ST | AR i o vl W oww o @ ® 2

L-26073 (TR) 2

What is the need of foreign investment in India ? Suggest
some measures to attract more foreign investment. 15
T A Rl FEw W o Evawa ® 2 afis fewh
fraw it v = oo w3 sT= gERY |

“In'dian business is getﬁng globalised.” Comment. What
more should be done in this regard ? 15
"I SR T aveERe ® W@ g 1 el wife |
3@ Oy # SR T fR W emew ? "

. “Foreign exchange market is unique in itself” Blucidate

Discuss the major participants in foreign exchange
market, . 18
“fRslt OE WR e e # emer € 1" Rt 9w
IR ¥ wgE sfawfEl o s |

(7-07/6) L-26073 (TR) 3 - 7,700
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BCQ/M-24 26074
RETAIL MANAGEMENT
BC-606(1)
Time : Three Hours] : [Maximum Marks : 80

Note : Attempt Five questions in all, Q. No. 1 is compulsory.
»  Attempt any fowr questions from remaiﬁing eight
questions.

@mm#rﬁwﬂﬁrqiwml iR
21 O o WA W A FR =R WA S Ay |

1. (i) Write a short note on non-store based retailing.
=R onufie T T W @ Wi foorh
Tafem |

(ii) What is electronic article surveillance ?
Rt ow T w@ R 2

@iii) Discuss the elements of Retail Commumication-Mix.
o sRfewm-me & 7@ W o s |

(iv) Explain the advantages of Foreign Direct Investment.
vty ToREht fEwr & @M S |

(v) Briefly explain the various types of Retail
Merchandise.
ﬁﬁq%@%ﬁfmw@f@qmﬁml

5x4=20 "

(5-20/4) L-26074 ’ PT.O.



2. What is Retailing ? Give its scope in detail from the
viewpoint of retailer as well as employee. 15
fofin =1 2 7 o & wo-wg w9l & sfesm 9
s 87 5 TR ¥ woR |

3, What do you mean by organized and -unorganized
Retailing ? Also differentiate between the two. 15
Hisa o orgfea wRU T ¥ oM W wEEn € 2 _
H @ ot say ) |

4, How can ‘information technology’ provide security to be
retailer 7 Explain in detail. 15
g RefEY w<T P O B R e $9
¥ T ¢ 7 R @ e SNy |

5, What is Store Design ? Explain the main components of
store design in detail. i5
wr feoieT ® £ 7 ©R foomd & Ted w2 @1 frEn
o A |

£ Describe in detail the advantages and disadvaniages of
using information technology in a retail 'business. i5
@mwﬁw'sﬁa}ﬁﬁﬁ#m%w@ﬂﬁﬁ
= fowm & 9UF Wi |

126"+ _ 2

7.

The choice of the Retail location is affected by the number
of factor. Explain in detail the factors affecting the choice
of the general location of retail store. 15
T WA H G SRR W wen § ke @ ol

. geU WK § OEE W©F % e S gl S u

(E-20/5) 126074

TR B HER @ S S |

What are the major models of Retailing ? On the basis of
ownership, how can store bases retailing be classified 7 15
T e S wE ded #@ ¥ ? WiE § R W
WU SIOR H TG TER eigd RE ST e 2

White short notes on the following : 8,7
(a) Energy management '

(b) Material handling.

Frefafen W wiva feairl fafew -

(1) &= YeEH

() arnll deeE

L

7,000
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BCQ/M-24 26076
INDUSTRIAL LAWS
BC-606(iii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, Q. No. 1 is compulsory.
(Compulsory Question)

1. (@ Define Industrial Relations. What are the constituents
of Industrial Relations ?

(b) Provisions regarding the employment of women and
young persons under Factory Act, 1948.

(¢) Explain the power and duties of authorities for the
seftlement of disputes under Industrial Disputes Act.

(d) 'What are the objectives of Employees® Compensation
Act, 1923 ?

(e) . Fixation of Wage periods under Payment of Wages
Act, 1936. 4x5=20

2. What is the importance of Industrial Relations ? Describe
the main approaches to Industrial Relations. 15

3. Discuss the relationship between HRM Practices and Trade
Unions Effectiveness. 15

(3-05/8) 1-26076 : P.T.O.



4. Explain the provisions relating to health and safety of
employees as per Factories Act, 1948. 15

5. Differentiate between the following : 78
(a) Layoff and Retrenchment
(b) Strikes and Lockouts.

6. Who is the in-charge of handing benefits under Workmen

Compensation Act 7 Under what circumstances, employer

is not required to provide compensation ? 15

7. Discuss in brief, the main provisions of Payment of Wages
Act, 1936. 15
8. What are the objectives of Trade Union Act, 1926 7
Describe the rights and liabilities of Trade Union. 15

9. Explain the amendments made in Industrial Disputes Act,
1947 till 2020. Describe the role of Tribunals in settling
industrial disputes. 15

1.-26076 2 2 400
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BCO/M-24 26087
SOCIAL NETWORKING AND DATA
ANALYTICS

Computer Application
BC-605 (VOC)

Time : Three Hours] [Maximﬁm Marks : 80 _

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
HA el T B IW AT | g g 1 ItEr
g1 '

1. (a) Define blog and its four properties.

=T IR IS R YUl s uRwf st |

(b) What is meaning of Big Data ? Write its four
characteristics ?
fom o= @ s oerd ¥ 2 suw e fastend
Tafeg 1

(c) What is SQL ? write its components ?
TEHEA. F T ? 99 Uew fofEe |

(d) Discuss Role of Time Series in Predictive Analysis.
Qg fawewor § wea SEar w gfien Wt
HITT | |

(¢) Write a paragraph about evolution of Instagram.
=W H OHAE B R T e fafe )

(8-19/2) 1-26087 (TR) -  PTO.



Define the term ‘Social Networking™ . Discuss the use of
Twitter in this concept.

‘givrer Yeafan’ = B TREfE WY | 59 sEERer o
feret & s9gM W == wieg |

Explain Facebook evolution, its data sh‘ax_'ing, Live media
and change of name in recent time with example.

o & fowd, T TR S, wEa s ¢k w
& T ¥ T A ased B S Wied TRy |

. What is role of Messaging in ‘Business applications ? °

Discuss any fwo messaging services for it.
EEiEE STEr | HOreT % ¥ O § ?
fog fdt < dew qeredl ) == Wi |

(a) Discuss Ethical aspects of Social networking.
e YeatEn @ e dedelt | owEl wmieg |

(b) What is data protection and why is it important 7

TR T ¢ SN 9 weegy Wi € 7

Define Bigdata and major tools for handling Bigdata.
forE SR fem @ e ow fav T STl @
YR BT |

What is data warehousing ? Discuss its role in data
handling.

= JaEEiT = € 7 S ssfem ¥ e g9f et
@ HIg, |

126087 (TR) 2

10.

Explain the concept of Predictive Analysis. Discuss
coneept of regression used in this.

AT RS H SEURIT S SIeHl i | gEH
TORF R $1 STEERO WOl BN |

(a) What is clustering and write the types of clustéring
methods ?
FerT w1 ¢ ol soefn el § weR fafe
(b) What is role of Data Visualization in data analytics ?
gl wfeerd ¥ e fosTeEeRT W oaEn e

% ?

Write notes on any fwo of the following :

(a) Role of SQL in Data analysis.

(b) Define Hadoop, concept and evolution.

(¢) Security issues in social networking.
Frafefaa # ¥ Tovel & Rl R :

(31) TEr frdun ¥ TEEEE S e |

(9) TeY, SEUNI SR fowm H wwfiE wif |
(W) wwie Aeafe § gien o |

(8-19/3) 126087 (TR) 3 750
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BCO/M-24 26088

ENTERPRISE RESOURCE PLANNING
Computer App-BC-606 (VOC)

Time : Three Hours] [Maximum Marks ; 80

Note : Attempt Five questions in all, selecting one question
from each Unit in addition to compulsory question.

No. 1. All question carry equal marks.
(Compulsory Question)
1. (a) What are tangible and intangible benefits of ERP ?

(b)) How is business integration achieved by ERP
system ?

(¢) Why is ERP implement to a company ?

(d How sales order management process is an integral
part of sales module ?

() Write short note on EIS ? : 5%x4=20
Unit I

2. Explain Business Process Reengineering BPR. How BPR
connected with ERP ? And also explain the different

phases of Business process Re-engineering. 15

(3-20/6) L-26088 1 PT.0.



Describe the vendor evaluation and inventory management

activity of ERP module. 15
Unit IT
Wiite short notes on the following : 15

(a) DBusiness Process re-engineering
(2) Employee Resistance during ERP implementation.

Why is the availability of timely, relevant and accurate
information necessary for business success ? Discuss with

examples. 15
Unit III

What do you mean by an enterprise ? What is its role and

also explain the procedure for successful implementation

of ERP ? 15

What do you mean by MIS ? What are its objectives ?

Explain its advantages and disadvantages. 15
Unit IV

Write short notes on the following : . 15

(a) Executive information system
(b) Pros and cons of In-house ERP Implementation.

What is ERP products ? Explain the Impact of Internet
on ERP products. 15

L-26088 2 ; 759
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BCQ/M-24 26090

PROPERTY AND LIABILITY INSURANCE-II

PPI-BC-605 (VOC)

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt any Five questions. All questions carry equal
marks.

freel Ofer TR B S S (W W & S
I 7|

1. Answer/explain the following with examples : 4x%5=20

(a)

(b)

(c)

(d)
(e)

What is the nature of property and liability
insurance ?

Why do we need insuwrance for a club or
association ? What are problems in this regard ?
What are the differences between Personal and
Professional Liability Insurance ?

Discuss the importance of Liability Insurance.
What is financial liability ? What are its types and

what factors affect it ?

Frferfad &1 ITX ISR Higd S/ shifsy -
(31) wofa 8k @@ i @ WHla @ § ?

(8-18/13)1 26090 (TR) P.T.0.



(F) 7 Trdt s @1 wWiEen & o dm s
FEEET M T 7 T g8y ¥ wy geen § ?

(§) =ufo SR oA Sadl ST ® ST SRl S
g ?

() =ga &9 $ HEw W A Biwg |

(3) o< i &1 € ? 39 WHR O & &K #9

9 HNE TH UWEd R E ?

Answer the following questions in short : 15

(a) What is professional liability insurance ?

(b) What is difference between Professional Liability
Insurance and Errors and Omissions Insurance ?

(c) How much does errors and omissions insurance
cost 7

(d) What does E and O insurance cover ?7

(e) What is included in professional liability insurance ?

Trfafea ool & S gew o 'cﬁﬁm: :

(21) =mfes ofre & sar 2

(&) oerEfEn it s R gedl W 9% S o
s F AW T ?

(W) Ffedt ok o= dm W T fEad § 2

() E &R O ¥ +r ®ox Hwwt § 7

(3) =aomfas wfom ot § = owie § 2

L-26090 (TR) 2

3.

What is a limit of liability ? Where can | find the limits
of liability ? Can I increase the limits of liability on my
home insurance ? What types of risks are covered under
Liability Insurance Policy ? What is not covered under
this insurance policy ? 15
qfa &) G W T ? g9 iEw @ € e fHe
WHd £ 2 | H SR T W W Rua ® W aar
WA &7 3@ S uifas % ol few weER % wifes
IS € ? 39 S uifert & 3fold @ Hel A9 7 7

Define underwriting and how do the various types of
underwriting work ? Can an Underwriter deny an Insurance

Policy or Loan ? 13

SR sl GRSty iR fafim wehR w1 e
&Y HH HE € 7 T HIE HIER R S ited W

%O ¥ TR S 95 § ?

What are the requirements to purchase a Property Insurance
Policy ? Explain the contents of the policy documents.

' 1
goft e dfeet =i @ fow @ swevEmad ® 7
qiferet ST i SEU WR @i |

~d L1

Describe the procedure of adjustment of losses and claim

compensation. Also describe functions and responsibilities

of adjusters. 15

(8-18/14) 1.-26090 (TR) 3 P.T.0.




ot @ wEeE AR SR IS W RE W FoE (b) Dishonesty Insurance

vy | wEEhi 2 FE ud SeEl S off avH (c) Destruction Insurance
ST | : (d) Building Insurance.
' frfefad =t faeva, ¥ W@ A T HIfNg ¢

7 Describe the procedure for preparing claim statements in 1 (o) Fafrea @ e

case of property insurance losses. What are the important (@) e <

documents required in claim settlement ? 15 . (o) T @

mé\mgﬁ%wﬁmﬁwmwmm (zy e A

& guiq e | e e ¥ srayaE TEEY SHES

7 € ?

g If I am an exporter registered as SME and my overseas
buyer requires me (0 have a product liability insurance
cover ? Can | get such covers in India ? If yes, describe
the procedure in taking the insurance coVer and procedure
in getting claim, if any. i5
aﬁﬁw.@.é.%mﬁq%ﬂ%ﬁwﬁm%afﬁtﬂ’{
ﬁﬁﬂmﬁ@ﬁmmﬁmwﬁw '-?
%?w@mﬁwﬁam%?aﬁﬁ,?ﬁaﬁm

&, &1 quF B |

9, Describe the feature, conditions and policy of the
following : 15
(a) Medical Benefit Insurance

1.-26090 (TR) 4 (8-18/15) L-26090 (TR) 5
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BCQ/M-24 26091

AGRICULTURE AND RURAL INSURANCE

PPI-BC-606 (Voc.)

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt Five questions in all. Q. No. 1 is compulsory
which comprises of five short questions of 4 marks.
H U T P S AN | W Hewn 1 dAfed
T Oy 4-4 H @ U9 @Y S99 W § |

1. ‘Write short notes on the following : 4x5=20

(a)
(b)
()
(d)
(€)

Modified National Agriculture Insurance
Comprehensive crop insurance scheme
Product risk

Type of poultry insurance

Income and consumption smoothing,

frfafen W i frafet fafew
(1) Wit T i <

(%) HuE e S A

(¥) SOR siEd

() el W ® THR

(3) & SR SUNF =g |

(3-061211 26091 g PT.O.



4.

5.

What do you mean by Agriculture Insurance ? What are
the benefits of Agriculture Insurance ? Also explain the
problems faced by farmers in Crop Insurance. 15
T A § 7w o ¥ 2 oy 9w R T owm £
wEe o A R @ g ol wwensl & R o
ECIEL

Write detailed notes on the following : 7.5%2=15
(@) Prime Minister Fasal Bima Yojana 2016

(b) Role of IRDA in crop insurance.

Frafafeor = foega feoaftral fafe

(31) 9UFEEl BEer dAT AET 2016

(7)) oA S ¥ ARAET w1 ufiEE |

What define cattle insurance policy ? Discuss the
procedure of claim settlement under cattle insurance. 15
oy e difest S aRemr = f 2 Wy o @ qew 9E
Hem &t whee W == sy |

Write detailed notes on the following : 7.5%x2=15

(a) Crop Insurance underwriting

(b) Comparison between National Agriculture Insurance
Scheme and Weather Based Crop Insurance Scheme.

Frefafen w fawga feafmer fafeg .

(31) wEa o gwiEr

(%) U Hy s AT oI R ey wae e
S W W= e |

L-26091 2

8.

Explain SHG. Explain the role of SHG in agriculture
insurance. 15
WY Herl g B S wiY | ey dm W =y
TRIEA WE i ST S @A ST |
Write detailed notes on the following : 1.5%2=15
(8) Problems faced in crop insurance underwriting.

(b) Why horticulture and floriculture insurance are
important ?

Frafafen w fawm fewfoer fafew -

(&) U W OEERG W o el weemsd

(9) arErt ok wel w8l @ o = e §02

Explain the role of micro finance in detail. 15

gem-fad ) e = W ¥ wwEmE

Write detailed notes on the following : 7.5%2=15

(@ Type of risk in agriculture insurance

(b) Risk management strategy.
frefafen ® favqa fewfrl fafen .
(30 wE «tm ¥ Sifew = R
(7)) <Sifew wEem wrifa |

(3-06/12) ~26091 3 - 50
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BCQ/M-24 26092
MANAGEMENT OF SALES FORCE-II
ASPSM-BC-605

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
T T9E § Uk W g gY B ure W &
s g | ww wewr 1 efER

1. (a) Explain the advantages of sales budget.

foma o & @ fafew |

(b) Factors influencing the size of sales Quota.
foshar @ler W WM R G |

(¢) What are the objectives of sales forecasting ?
P T B w e £ 2

(d) Write down the purpose of selling cost analysis.
LERECIN faveay o % Sed Tafew |

(e) Write a short note on market analysis.  4x5=20
IR ToreEy W owEw fon fafew |

2. Define sales territory. Explain the procedure of establishing
sales territories along with factors determining the

geographical size of sales territory. 15

(8-19/13)L-2.6092 PT.0,



fama 83 = 9fntm =ifee | foom &9 = wfm =@
Wi YiHE H qel SA% WPl STeR W MU ee
HS HRBI S W TR |

What is sales budget ? How is it prepared ? Also explain
factors affecting the sales budget. 15
R T w1 € 7 3@ %9 9an e sm € 2
qoe W YA W A B S ft TRy |

What are the uses of sales forecasting ? Describe the
procedure of sales forecasting. 15
i galgard & o sy € | fasme wafgaEl ) wlie
I FER 9 Ry |

Explain the ethical considerations in sales force
management. What are the limitations of sales force
management ? 15
fosrg vl woy & fou it oe & sren s |
foera vt Wiy # @ g § 2

Define sales planning. Explain the importance and

limitations of sales planning. 15
foma fasi & gfidifsg sy | fawa Fasm = 95
IR T dmed @t R © =me SR |

L-26092 2

What is the use of sales and cost analysis 7 Which are
the main techniques that may be used for sales analysis ?

15
fagra wd @ fawemr ®  STEm € 2 e fawerso
T Bl TEF ThAl® B AU BT |

What are the essentials of effective sales budget ? Explain
the various methods for determining the amount of selling

expenses. 15

Tt fasg ave TR B HEEE o GRS & 2 fuame
Tl 9l Tuife o=@ = fafi= el =t sren st

“Sales quotas are essential for good sales results.”
Comment. Also give the limitations of sales Quota system.

15
‘o fama itom @ faT foee e SR T U W
HUF B e Hie | fiwa e S HiE o fafe

(8-19/14)L-26092 3 50
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BCQ/M-24 26093

SALES PROMOTION AND PUBLIC
RELATIONS-II
ASPSM-BC-606(Voc)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
o Ul T S W LY | WA Hew 1 e
T
1. Write short notes on the following :
(a) Display Allowance
(b) Free trial
(c) Sampling
(d) Pretesting
(¢) Handouts and leaflets.
frafafen w g feofml fafeg -

(31) wFW A
(%) Txme oo

(q) AHATD T
(%) dief=n

(3) TeoRey @R W |

(3-21/5) L-26093(TR) - P.TO.



Define Sales Promotion. Explain importance and objectives
of sales promotion. 15
foa dadq = wReaftm =i | fsee dadv & @ew
T Sevdl &1 e |

Write a detailed note on different methods of sales
promotion. 15

Toma gativ & o= wWel = o o fooht fafew)

Discuss various steps involved in designing a sales
promotion program. 15
foent dad wEien w fouma @ A wfga &= =
W FE B |

‘Public relations is considered as fifth ‘P’ of marketing

mix.” Do you agree with this statement ? 15
‘ST S FaToE fasor T o P W ST € U0
Y T WS § WA § ?

What are different functions of Public Relations ? How is
it different from Publicity ? 15

SO @ A wE ®m € ? 9% WER 9 fRY TR
fir & 2

Discuss various tools of Public Relations in detail. 15

SHEYE 5 B STRl s SRR 9 == i |

L-26093(TR) 2

8. What is difference between sales promotion and Public

Relations ? How do they supplement each other 7 15
fosra dads iR SHTE A W AR % 2 ¥ wm-aw @
TEH S9 7@ T ?

Discuss the ethical and Legal aspects associated with

sales promotion and Public Relations. 15
fomp! Haeh ok wrevs ¥ §2 A ok SN wege
= S )

(3-21/6) L-26093(TR) 3 50
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(%) S 9@ H HHE | 20517
(@) Sy TREdH| BAE/M-24
| ENVIRONMENTAL STUDIES
9.  Write short notes on : : (Common for B.A./B.Com/BCA/BIM/BTM etc.

(a) Population growth

(b) Women and Child welfare. (6+6.5)
wige feofrf fafew

(%) SEer gisi

(@) wfse SR = Heam

Annual System Candidates)
Time : Three Hours] (Maximum Marks : 75

Note : Attempt five questions in all. Question No. 1 is compulsory.
dte @ wE Ui U B 9w g 3 ge 1 AteE 8

PART-A (YR1-3Y)
Compulsory Question

(ettErE wv)
1. Write short notes on the following :

(a) Stimulant drugs.

i (b) Endemic species.
| (¢) Noise Pollution,

(d) Mining.

(e) Algal blooms.

i (f) Rainwater harvesting,

(g) Soil erosion,

(h) Environmental Ethics.

(i) Tidal energy.

() Water logging. (25x10=25)

20517/14600/KD/1028 4 20517/14600/KD/1028 [P.T.O.
20/6



Frefafiag ™ i feufml fafeg
(F) SU5F JAE)

(@) o el
(1) == T

() @l

(%) Yo SRl

(=) a9l st GoEl
(B) HaT AR

(=) el el
(%) vaE Sl

(=) s SHEl

PART-B (49

2. Explain the multidisciplinary nature of Environmental
studies. Why is their need to aware the public about
conservation of enviranment? (12.5)
e SETEE W Sg-TawerRE W W SIS wifed)
iR W TEO ® AR W W B STTEE B B
TRl @ 82

3.  Write brief notes on :

(2) TImportance of forest resources.
(b) Groundwater and surface water. (6+6.5)
dferwe e o d :
() = WAl T AR
(®) oo IR wEE Sl
20517/14600/KD/1028 2

5.

6.

7'

80

Define ecosystem. Explain the structure and function of
a grassland ecosystem. (12.5)
i Y ARG ST =wwe SRR O 6 T
St /e HiE

Describe the different renewable sources of energy. Why
they are important for us? (12.5)

w8 faftm e el @ 9o S S T e
= TEa 87

Explain the different levels of biodiversity. Discuss the
importance and threats related to biological diversity.
(12.5)

S Tt @ fafer ) i e Fif sifaw fafe
§ e ek ol Wl W = B

What is solid waste? Describe the sources of solid waste
and the different methods for the solid waste disposal.

(12.5)
39 FET R §? S TS & e $R S et %
froem w1 i fafae =1 a3
Explain the following :
(a) Ozone layer depletion,
(b) Climate Change. (6+6.5)

20517/14600/KD/1028 3 [P.T.O.
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NSEC/M-24 14276

NUMERICAL ABILITY ENHANCEMENT SKILLS
Paper — B23-SEC-225
(SEC)

|me : Three Hours] [Maximum Marks : 35

ote : Attempt any five questions, selecting one question from each

unit and Question No. 1 is compuisory.

T : TOF @R U UF W T g @ ute WE i
7o 9§ 1 e B

UNIT-I (50e-1)
Compulsory Question
(tE v
(i) 70+14x3-45+0.

(i Kx:y=2:3andy:z=4:5findx:y:z

1 1 1

(i) Find the 6™ term of sequence 1, ELariars

1276/3250/KD/1504/Trans. - [P.T.O.




2-

)
)

()
(vi)
®
@
(i)
()

™

(vii)

(a)

(b)

Find the average of ail prime numbers between 30 and 50.

Today is Monday. After 61 days what will be the day of
week?

Find the characteristic of log 8954.
Find the square root of 1369. (7x1=7)
70+14 X 3-45+9, '
K x:y =2:3 A p:z=4:57 x:y:z B T QY

1 1 1
IR 1, ~o, Ty B EE R T Hifsgl

30 @ 50 ® 9 T o wemel W e 9@
I

o Ve 2 615 el # 9% TwE w e-w KT

B?
T 8954 T STHGHW 9K HiTAU
1369 T T WO I

UNIT-II (hE-10)
Prove that /2 is not a rational number.

1
Ifx=3+2-J§,ﬁndthevalueof\F“‘—J?. 7

14276/3250/KD/1604 = 2 .

14276/3250/KD/1504 3

(%) fos HNT 2 TF IR gen w8

1
(@) T x=3+242 T, @ J_—ﬁ o1 Jed T Hire

3. (a) Evahate s/ﬁ.
216

g \att p \BHe e \eta
Tl 124 121 =1 7
(b) Prove that [ xa) ( xc] [ xa)

(=) 3% 1 TEiw R

UNIT-III (Sehig-100)

(&) Find the smallest 5 digit number which is divisible by 21,
28, 36, 45.

(b) The ratio of present ages of Supriya and her mother is
2 : 9. Mother's age at the time of birth of Supriya was 28
years. Find their present ages. 7

(%) 5 = H T8 S YN T4 S & 21, 28, 36,
45 ¥ fauma )

PO



5.

(@) gt oK TaEt o # Sae oy e elea 2 ¢ 9 ®
GRRT & S & TR SHE! AT T oy 28 uY effy
IR TAAM Y @ FH)

(@) Which number should be subtracted from each of 11, 23
and 53 in order that the remainders would be in continued
proportion?

(b) The sum of three numbers in A.P. is 24 and their product
is 440. Find the numbers. 7

(%) 11, 23 3K 53 % ¥ 7% & ¥ w9 e w=E
A e WfE o we fiw e | w?

(@) AP. ®§ O demell #1 9m 24 ¥ SN T TOREE
440 ¥ HEmd W@ Hf)

UNIT-IV (SFE-TV)

(a) A medical student has to secure 40% marks to pass.
He get 80 marks and fail by 60 marks. Find the maximum
marks.

(b) The cost of one type of rice is ¥ 85 per kg and cost of
other type of rice is¥ 125 per kg. If both types of rice are
mixed in the ratio 2 : 3, then find the price per kg of
mixed rice. i 7

14276/3250/KD/1504 4

(%) TF HiEeHd o7 & TH 81 & 0T 40% fF W
H T I 80 3iF e ol % 60 ol § o @
T Sifeeay ie T HITg)

(@) Th THR % TEe H R T 85 W e € ok g
UHR B T B HEG T 125 S FEw 2 afz SR
THER B = B 2 : 3 A | Preren W §, o
Tafra =meer <6t oft Teemm s @ =

(2) A dealer sold two cooler at¥ 2,970 each. On selling one
cooler he gained 10% and on selling the other he lost
10%. Find the dealer's gain or loss percent.

(b) Shivam travels from A to B a distance of 250 km in

1 1
5'2" hours. He returns to A in 45 hours. Find his

average speed. 7
(%) T Ser 7 T HIR T&F T 2,970 H T TH Fr
TN W SH 10% B W TN AW TR I W 3N
10% =1 €I el SIER =1 &% 90 71 Sfww 9 o
() e A 9 B w250 Bt MR 5 W A

m%laﬁ4%ﬁﬁAwmaﬁw%laﬂaﬁ
sirga s S9N

14276/3250/KD/1504 5 [P.T.0.



UNIT-V (§%T5-Y) () @ 11%7x3% = 5 x7* =) w1 =i

8. (2) Solvefors: (=) T T T T 3.6 0 s ok vwe svew #
log(10x + 5) — log(x + 4) = log 2. e 1.6 it 81 R e s # ok v g
() A rectangular grassy plot is 124 m long and 96 m broad. g A [ W S ¥ RS MR #t B

It has a path 3.2 m wide !l around it outside the plot. Find 12 9t j1 T # wEE W e

the area of path and the cost of constructing it at the rate
of % 17.50 per square meter. 7

(F) x % fAC 7 ST : :

log(10x+5)—log{x +4)=log 2.

(F) TF AFAHR U H THE 124 HeR oo iR 96 Hiew
e 1 39 wiie = T 9 SR 3.2 Hiet =g T
21 T 1 & IR T 17.50 T o e H W W
o el = o 9| it

9. (a) Solve the equation 11*7°x3% =5 x7*,

(b) A right circular cone is 3.6 cm high and radius of its
base is 1.6 cm. It is melted and recast into a right circular
cone with radius of its base as 1.2 cm. Find height of

new one. 7

14276/3260/KD/1504 6 _ 14276/3250/KD/1504 #
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NSEC/M-24 14272
ANALYTICAL CHEMISTRY
Paper — B23-SEC-221
(SEC)
Time : Three Hours] [Maximum Marks : 35

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt four more questions selecting at leastfwo questions
from each section.

e : FA U W FWWU W G 1 A= T T&0F w2
FH-T-F9 G T TR L W SR T A

Compulsory Question
(e )
1. (a) Define chromatography.
(b) How does pH affect nufrient availability of soil?
{c) How is pure water important?
(d) What is nutrition and why it is important?

F) FAEmE F aRefh wi

(@) pil fizd =t doe SudeRn W HS yekR s R?
(M U T FY HAEEget 82

= e = 2 ek T = Teep 87

NN M

14272/800/KD/ 508/ Trans. 4% [P.T.O.



SECTION-A { ©UE-37)

2. (z) Why TLC is preferred over paper and column
chromatography? 3.5
(b) Describe ion exchange chromatography. 3.5
(@) TLCH IR iR whiem FHIWTA W T w6 Fne
S 87
(@) et winenTE W vl i)
3. (a) Explain the principle of adsorption chromatography. 3.5
(b) Describe the principle of paper and column
chromatography. 3.5
() eIt FEEmE & et ﬁ S BT
@ =PI SR wiew wHemTE! & fasia w1 vl Hiwl
4. (a) What role do chelating agents play in soil fertility
assessment? 25
(b) Explain the composition of soil. 35
(@) Ted = Satar & e § <hwfen TSe o iHeR
fromer 87
@) THZ ® G W S SN
5. (a) Why are chelating agents used in soil analysis? 33
(b) How do indicators assist in nutrient analysis of soil? 3.5
@) feg & faevn # i wid & v =i
< 22
@ Fed & vk o foReww # deds % TR
w27
14272/800/KD/1508 2

6.

8.

SECTION-B (EUsS-)

(a) Why is it crucial to have access to pure water? 35

(b) What are the sources responsible for contaminating
water? 35

() TS T TH TE B AR 82

@) & B R A S o REER wW @ E?

(@) How do industrial activities impact water quality? 3.5

(b) What are the methods to purify water? 3.5

() sheifice whifafet wEt W e B R welE
T 27

(@) T H LS FE B W 7 E?

(a) What are macronutrients? Write their names. 3.5

(b) Write the function of zinc and caleium mineral. 3.5

@) Feques ¥ €2 e W fafeu

@) ffw iR Sfovam wfm & =@ e

(a) Write two sources of each macronuirient, 3.5

(6) What is food processing? How it is different from
processed food? 35

@) Tow dwrEiee @ 9 U fafen

(@) T FEER 7 € TR STeR W R fir 27

14272/800/KD/1508 3



9., What are waste-to-packaging concepis? How do these Roll MO, ..usisimsimsms Total Pages : 4
concepts contribute to sustainability in the packaging industry?
Give an example of a food waste-derived material used in

packaging, 7 NSEC/M-24 14266
sfere § YfET = sroumend wn §? ¥ swHyRemd FOOD WASTE AND BY-PRODUCT UTILIZATION
Y se § feonw @ fog 59 drEm o €7 S o Paper — B23-SEC-215

IR Y O O O SIRTE-SE Wl W TE 't (SEO)

e ) | Time : Three Hours] [Maximum Marks : 35

Note : Attempt five questions in all, selecting one question from

each unit. Question No. 1 is compulsory. All questions carry
equal marks.

AT : TOF THE © Tk WA T §¢ HA Ue W HaQ
e E 1 ohmEd ¥ ud we $ ofw wEm

| Compulsory Question (Wﬁ? g

1. (a) Explain the environmental impacts of food waste. 2.5

() Define the following :
(i) Anaerobic digestion,

l (i) Bioactive Compounds.
(i) Food Additives. (3x1.5=4.5)
fieF YA & ORI YWEl i Sl i
Fr=fefen o gl =g -
G eEEeEE el
@) S gfwa A
(i) T AT

43

14266/800/KD/1511 4 14266/800/KD/1511/Trans. &% IP.T.O.
15/7



2.

UNIT-I (F%%-1)
What are the primary factors contributing to food waste at
different stages of the supply chain? What are the major points
of waste generation, and how can they be addressed? 7

sl e % fafre sl § wm v F w23
aﬁmmwﬁ?mﬁmw%wﬁgw
? R =% 5 w1 wwa

Explore the economic implications of food waste for Testau-
rants. How does wasted food affect profitability and operational
efficiency? 7
i‘mf%ﬁqmaﬁw%%%%aﬁﬁm@
STARTE. G IS TR ol IReme mAer E S
T W 82

UNIT-II (3%T3-1D
Explain the role of food donation and redistribution programs in
diverting surplus food from landfills and addressing food
insecurity, 7
SARTE S 8 W ARy ien W wer ok e stgren
! WA e < s g e o s
FT =rEm S

14266/800/KD/1511 2

- =

What are some innovative technologies being developed to
reduce food waste at various stages of the supply chain, from
production to consumption? 7

ST R ITHT TH AN o B e oy §
mmﬁmﬁmﬁ%fmmaﬁwrﬁw
TN Neffeat =

UNIT-II (SE-IT)
What is meant by by-product utilization in the context of food
production, and why is it important for sustainable resource

management? 7
T IEET F W A I9-IR 94 @ ww aef ¥, st
T WA W % U 9w w= aeag 82

What are the different types of biofuels that can be produced
from food waste, and how do they compare i terms of
environmental impact? 7

e SR ¥ SR R W v IR e v e
ﬁa-fmw%aﬂiwfamqum%a‘ﬁ#ﬁmﬁm
FQ T < wewdr 27

UNIT-IV (57-1V)
Explain the importance of utilizing food waste by-products in
animal feed and pet food production. 7
T SRR SR o Uy S ToET Wy erafirs
SU-SRl % WA % Wew w =ren s

14266/800/KD/1511 3 [P.T.O.



TF SHEEGH e ¥ 5 WO SO Hew o6 B2 I8
THEHF ToK $] F9 THR 95 & iR TP T9R N
N WS W T 87

9. 'What are the prominent channels relating to audio-visual
communication? Why has it become so decisive in modern day
business world?

E-9eT WUR § TERkE| THE S SH-®:R w57
ST W HI eGSR g4 A 98 ga Fofas
T T ®?

14265/10550/KD/1512 4

Rl Wh. cvsissiannss Total Pages : 4
NSEC/M-24 14265
BUSINESS COMMUNICATION
Paper — B23-SEC-214
(SEC)
Tinie : Three Hours] [Maximum Marks : 50

Note : Part A (10 marks) is compulsory. From Part B, attemptfour

questions in all, selecting ore from each unit (10 marks each).

AT ¢ qE-3T (10 o F) e 21 UEE TR W UH W™

1.

I T M- § F@ SR WF HY (YEE 10 FF
DI

PART-A (9TRT-37)
Compulsory Question (3eE Wgw)

‘Write notes on the following :

(i) Semantic v/s Psychological barriers to communication.
(i) * Essentials of a good press communique.

(i) Stress Interviews and Panel Interviews.

(iv) Ingredients of a good body language.

Trefarem W feaon fafew .

@) HER & e seided s m TSt W)
() WF T=St TU fomfa =1 IavEsan

@) W WEEER &R U WeTeER)

(iv) TF TSB! TE-NIE W OWE ® G

14265/10550/KD/1512/Trans. [P.T.O.
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PART-B (T7-®)

UNIT-1 (oE-1)

How can an effective communication win the day for
businesses? What can be the repercussions of an ineffective
business commumnication? Discuss citing suitable examples.

TR OR a9 % foT fRY YER uwe U #
HHA B?7 STUVIET S TOR 19 YROTT = Bl
TR ©7 TG SEew ¥ gu e st

Discuss the prominent patterns used in business communication.
Throw light on 3 modern day communication channels used by
businesses,

HEEaF @9k § S Ry W Wi Yo @ e
HITT) el g ST A 9 g @ enufes R
T HER 96 | TR Sran

UNIT-II (SoTE-10)
Write a letter to your vendor who has delayed the supply of
, automobile spare parts to your passenger car manufacturing
company. Present the letter in strict tone for non-compliance
with the promised time.

I fomea =t w0 foe e emwet OEf wR fmin
HTA SR W TRy w1 engfd # ¢ 3 § a9
o T T & SR TR orueE & fan wer @RS § o
TR A

14265/10550/KD/1512 2

pre

Write a circular for an emergent meeting of top management in
light of possible workers' strike in near future.

frhe wfoss o dafom il =+t oea@ & WeTeR o
TS B F U Yo% $ 0T Uw uhes el

UNIT-1II (3s-100)
Prepare a forrmat for a structured interview that you would be
taking in the capacity of senior HR Manager of a media
company. The interview is for the post of creative writer in a
leading national daily.

Hifew F % &7 AHE GHYT WEUE @ ®T W ST W
TR o, Sue R U e OIAIRR S WY YR
| IE TR TF T8 T 8w § R oe @
= % fo B

What should be taken care of while communicating in a group?
What additional care is warranted in such a communication
viz-a-viz communicating with an individual?

WIE H Ha] S THa F e e wen? e st
% WY AR N 9T T e % -9 B HeE |
T Tl wEUE SaE =ifRw?

UNIT-1V (F&FE-1V)
Why is Public Relation so important in a business organisation?
How can it negate negative publicity and thrive on positive

publicity?

14265/10650/KD/1512 3 [P.T.O.
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PSEC/M-24 13495

CLOUD COMPUTING SKILLS
Paper — B23-SEC-201

Time : Three Hours] [Maximum Marks : 35

Note : Attempt five questions in all, selecting one question from
each unit. All questions carry equal marks,

qE : 7w R W TH WA TN g IO WS WA i)
Tf ge & i T B

Compulsory Question (al'ﬁa'lﬁ ugA)

1. () Whatis Vertical Scaling?

(i) What do you mean by Grid Computing?

(i) Define Hypervisor.

{iv) Explain Public Cloud Model.

(v)  What is an Open Stack?

(vi) When was AWS (Amazon Web Services) launched?

(vii) What is Data Center in cloud infrastructure? (7x1=7)

() e Yo g w7

G) fire w9t @ e w0 Al 82

(i) TSR T ARRE Hifeg)

(iv) TG NS HisE W Sl Sy
13095/14400/KD/9689/ Trans. P,

15/7



4.

(v) &l W = R?
) AWS (3R a9 9a) & T® &1 W of?
(vil) FSS EEET ¥ 2 X | 82

UNIT-I (3e-1)

What is the difference between Cloud Computing and
Distributed Computing? Explain advantages and disadvantages
of Cloud Computing. . 7
FANS FYET AR ke wogfen & o F e 87
RS FEEN & el R THE w1 e sk

Explain any four Cloud Service Providers along with their
significance. g

Tl eI Siee Sal Wee 39S Hew & WY S
B

UNIT-II (FHE-I0)
Define various cloud deployment models in detail along with
their characteristics using examples. 7

T B I w fafvm wes ifEem dea =
s femmepell = wio fawr © Rl wifsm

Explain various IaaS, SaaS and PaaS Providers. 7
faf=T TaaS, SaaS SN PaaS WRRISH &t =ren st

13095/14400/KD/969 2

UNIT-II (TEIE-IIN)
Explain the working of Virtualisation. What are the characteristics
of Virtualisation? 7

STTETRTOT i RIEUUNE] I SIS RITSE| STIENHIOT i
ferdomme =mm 27

Explain various problems associated with storage scale in-cloud.
What is Big Data Management? What are its problems? 7

FeE ¥ ©RY TR ¥ 2 e ol s e
Hifew o 22 wee o €7 SHO Wt W 22

UNIT-IV ($5T5-1V)
Explain various types of Data Center Services. Describe various
steps to design and implement Cloud Data Center. 7

faf= gR @ S Fe Yaisl W s W Tose o
Fx 5t o ol Frifay = & i =0 @1 9uF
HIC

Explain various features of GCP (Google Cloud Platform).
Also explain some services of GCP. 7

GCP (16T FeTse Wiehin) =1 Tl faemes =t =area
FHTNY GCP &t |S Waredl o1+ =men s

13095/14400/KD/969 3
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Roll No.

‘ Total Pages ; 03
PVAC/M-24 12729
ENVIRONMENTAL STUDIES
B-23-VAC-201
Time : Three Hours] [Maximum Marks : 35
Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks,
Yo% $E ¥ UH T T §E, % Ui TeE @
SW AR | T wen 1 e € ws oy @
siw e € |
1. Define the'following : | Tx1=7
(a) Environment
(b) Food chains and food web
() River
(d) Biodiversity
(e) Pollutant
~ () Earthquake
(g) .Global warming.

Trfafea = yiepfe =i .
(37) TataR
(%) @ gEen R T\ W

(8-35/10)1-12729 (TR) ' PT.0. -



(@) =&

(x) w5 fafau

(3) W

(®) Y&

(M) TEEE T |
UnitI(3TE 1)

2. Explain the structure and function of any aquatic ecosystem
with example. 7
et el TReRET 9 &1 GET SR S H S
wfeq IFEEY | ‘

3. Write descriptive notes on the following : 2x3.5=7
(i) Multidisciplinary nature of environmental studies
(@) Types of ecosysfems. ]
frfafgs | SuirTs fefel fafeq
() vEER SepER H Sglavs T
(i) wiftufet @ & WER |

Unit IT (F18 1I)

4. Describe the different in-situ methods of biodiversity
conservation. i
Ju fafem dam B fafe g-dig T w9
HITSY |

L-12729 (TR) 2

S TR LR P

7.

(8-3511)L-12729 (TR} 3

Explain the importance of forests. 7
o @ " Wi SHEA Witwg |

Unit 1L (313 1I1)

Explain the different methods of solid waste disposal. 7

S syfyre freem & fafge olsl =t =R Wiy

Write down fhe causes and health effects of air pollution.

g
mw%wﬁaﬁtwm%ﬁaﬁwﬁﬁ
fafe |

Unit IV (&8 IV)

Explain the impacts of human population growth on

environment. ’ 7

Tt TR ARG SHEEE 3t ® TWEl S STl HiNg |

What is disaster management ? Explain by using example
of floods. 7
TR WEE RN E ? 9% W1 SWe Sl WERY |

19,700



Gi) =feE wed wfeE W ¥ s we iR
@t ¥ 5 w9 o e w1 doRm 39 =W
T | T TewThie, W, e o) e St

sEuRuE wWiHe € ok A =fem wed edw

@Rl W SHR 4 T | (/)
(i) e gem wdl genteEl ok e § ouw
Tur 2, T o T o dedie ofm Wt v
(Eew/3TE)

(iv) ITfEEE #= gEE § B B sfwd w1 w@h
. W OWHN H YT WO W Wefgsmar € wE)
=eT | (Geg/aee)
(v) uddifEr aFET e @ dfee T oS € ein
g W Wt URphEl SR wwst W wen e

i - (Hea/2169)
(vi) wiwmgms fgae w6 R Taw wE B omeEw 9@
T gUg A e HA Rl UG B % W w
weifa s 8, e stvw eremfms wify elk
oftr 2 | (T/TEE)

T (vi) IR W dEe ek faeefE @ o owm @
' W Y N WEE © R 3 Sew =tew
"o % fau At @ w8 woEm ar dweA
§ wafm € i (He/eTEeE)
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PVAC/M-24 12730
HUMAN VALUES AND ETHICS

Time : Three Hours] [Maximum Marks : 35

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 9 is compulsory. All questions
carry equal marks.

ToE E ¥ UE Y g gY, R U oy S
IW AN | W wew 9 aafEd o1 asht ww @
e WA E '
Unit I G=E 1)

1. Write a short note on the need and process of value

education in higher education.

S=a o o Hwa Ren w1 erEvaed SR WhEw W Wi
Tl fafey |
2. What are different kinds of values i.e. personal, social,

moral values and spiritual values and how are they related
to one another 7

fafis THR % wew sl sReTE, SR, e T
AN el Tod T F IR 7 g QW wahm
F 2 ' :
: Unit I¥ (3513 1)

- 3. What is the significance of human values in our lives ?

TR S H Hely Hedl @ o Wew § 7
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. - What is the relevance.of empathy and can we enhance it

" with practice ?

m‘aﬂgﬂﬁyﬁﬁwwgaﬁtwwsﬁ g W gl
wHhd T ?

Unit ITI (3572 1)
What are the four Antah-Karanas (inner instruments) in
Yoga ? ‘
4 F WR siaE (e W) @ 2
Can we differentiate happiness from well-being ? Elaborate
with an example.

-wwg@ﬁw“&wmmg?w
ofeg fosrR § wdsg |

Unit IV (F&TE IV)

Deéscribe the need and scope of professional ethics in the -

twenty-first- century scenario.

-ﬁww%mﬁm%ﬁwﬁw
I & W auE W 1 -

Does competency-based education go well with value

education ? Write your views.

wa\mmanmﬁaﬁmiﬁmﬁmaaﬁﬁ—{aé
et & ? ot faEr fafew |

Compulsory Question ( 3TF&TE U9T)
Sate whether the following statements are True or False :

(i) The need for Value Education -arises from -the -

recognition’ that academic knowledge alone is
insufficient for holistic development and individuals
require moral and ethical guidance to navigate life
effectively. . (True/False)

L-12730(TR) ' 2

(ii) Personal Values are individual beliefs that dictate
how we ‘conduct our lives. They iriclude concepts
like ambition, courage, independence and curiosity
and shape personal goals and behaviors.

(True/ False)

(iii) Social Values are uniform across all cultures and
societies, with no variation or contextual differences.
(True/False)

(iv) Utilitarianism suggests that the happiness of a few
individuals should take precedence over the overall
vxfell-being of society. (True/False)

(v) Universal human values are considered fundamental
and shared across cultures and societies worldwide.
(True/False)

(vi) Loksangrah refers to the practice of accumulating
merit or good Karma through selfless actions and

compassionate deeds, aiming for spi}itual progress -

and liberation. (True/False)

(vii) Trusteeship involves managing resources “and

responsibilities with the understanding that they

belong to a larger community or organization, rather

than solely for personal gain. (True/ False)
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